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The following table shows the distribution of male (M) and female (F) athletes who participated in an Annual Sports Event
from five different countries A-E over the years 2016 to 2021. Based on the data in the table, answer the question.
Year-wise Country-wise Distribution of Athletes.

Countries — A B C D E
‘ears | M O F M [F M [F M [F M F
2016 220 |165 315 [210 [225 |155 280 |205 J235 [105
2017 330 210 H20 310 [345 |165 H20 [315 [390 [260
2018 230 190 [370 [240 [240 |140 Me5 [365 M35 [325
2019 80 245 70 M20 330 210 |630 [470 (45 1290
2020 390 [320 [5330 260 [390 [315 [720 [510 [590 [460
2021 410 260 [320 360 [540 [345 [780 [605 [680 [490

Frafaad drfereT 31 9oy (v SIR Afeel (F) Qclled o favor ol axiidl @, forgi fafirs i o=l (a-B) S 2016 §
2021 A U dlitd Gl SIS H HAT e | difdd] & 3Hids] b ATUR U U &I 3R gl |

TYciicy Hl YaR GaR faavu]

oW A B c D E
| a9 M F M F M F M F M F
D016 D20 165 P15 [210 [P35 |155 [280 [205 |35 [105
D017 330 10 B20 [310 [345 165 [420 315 o0 [260
D018 D30 |00 |70 [240 [240 140 [465 [365 W35 [325
D019 150 45 70 [420 [330 |10 [630 |70 [4s 290
2020 500 320 [30 [260 [390 [315 [720 [510 [590 [460
D021 110 P60 [320 [360 [540 [345 [780 [605 [680 [490

The difference between the number of male and female athletes from country C was the second highest in the vear
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The following table shows the distribution of male (M) and female (F) athletes who participated in an Annual Sports Event
from five different countries A-E over the years 2016 to 2021. Based on the data in the table, answer the question.

Year-wise Country-wise Distribution of Athletes.

Countries — A B C D E
lears | M |F M [F M |F M |F M F
2016 220 J165 |315 [210 225 |155 |280 [205 235 |105
2017 330 (210 H20 [310 [345 165 H20 |315 [390 260
2018 1230 |90 370 [240 1240 |140 M63> [365 M35 |325
2019 M80 (245 70 [420 330 210 1630 [470 M45 1290
2020 5390 |320 [530 [260 390 315 [720 |510 [590 |460
2021 H10 260 320 [360 [340 [345 |780 |605 |680 490
R dIfeid! 34 Qo (M) 3R HigdT (F) Tydied & [advul &l &2Midl g, g fafis uig &=l (a-E) 9 a¥ 2016 9

2021 I U dliNd [l S H HAT e | difddT & 3Hids] b TR U U &I 3R gl |

TYciiey &1 aNaR GRIAR [daRT]

o o A B C D E
G M F M F M F M F M F
2016 D20 165 P15 [210 [225 [i155 [280 [205 |35 |105
2017 330 10 B20 [310 [345 165 [420 315 [390 [260
2018 230 |00 70 [240 [240 [140 [465 [365 P35 [325
2019 180 P45 570 [420 [330 P10 [630 [70 {45 |90
2020 500 320 [530 [260 P90 P15 [720 [510 [590 [460
D021 110 P60 P20 [360 [540 [345 [780 [605 [680 [490

The average number of female athletes who participated from Country B over all the vears together was
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The following table shows the distribution of male (M) and female (F) athletes who participated in an Annual Sports Event
from five different countries A-E over the years 2016 to 2021. Based on the data in the table, answer the question.

Year-wise Country-wise Distribution of Athletes.

Countries — A B C D E
lears | M |F M [F M |F M |F M F
2016 220 J165 |315 [210 225 |155 |280 [205 235 |105
2017 330 (210 H20 [310 [345 165 H20 |315 [390 260
2018 1230 |90 370 [240 1240 |140 M63> [365 M35 |325
2019 M80 (245 70 [420 330 210 1630 [470 M45 1290
2020 5390 |320 [530 [260 390 315 [720 |510 [590 |460
2021 H10 260 320 [360 [340 [345 |780 |605 |680 490
R dIfeid! 34 Qo (M) 3R HigdT (F) Tydied & [advul &l &2Midl g, g fafis uig &=l (a-E) 9 a¥ 2016 9

2021 I U dliNd [l S H HAT e | difddT & 3Hids] b TR U U &I 3R gl |

TYciiey &1 aNaR GRIAR [daRT]

o o A B C D E
G M F M F M F M F M F
2016 D20 165 P15 [210 [225 [i155 [280 [205 |35 |105
2017 330 10 B20 [310 [345 165 [420 315 [390 [260
2018 230 |00 70 [240 [240 [140 [465 [365 P35 [325
2019 180 P45 570 [420 [330 P10 [630 [70 {45 |90
2020 500 320 [530 [260 P90 P15 [720 [510 [590 [460
D021 110 P60 P20 [360 [540 [345 [780 [605 [680 [490

The approximate percentage decrease in the number of male athletes who participated from Country C in the year 2018 as
compared to the previous year was
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The following table shows the distribution of male (M) and female (F) athletes who participated in an Annual Sports Event
from five different countries A-E over the years 2016 to 2021. Based on the data in the table, answer the question.
Year-wise Country-wise Distribution of Athletes.

Countries — A B C D E
lears | M F M F M [F M [F M F
2016 220 |165 315 [210 225 |155 [280 |205 235 [105
2017 330 210 H20 310 [345 165 K20 [315 [390 [260
2018 230 190 [370 [240 [240 |140 Me> [365 M35 (325
2019 M80 (245 70 [420 330 210 1630 [470 M45 1290
2020 390 (320 [530 260 [390 [315 [720 (510 [590 [460
2021 H10 260 [320 360 [540 [345 [780 [605 [680 [490

FafciRad drfeia! 34 g (M) 3R Jiedl (F) Tcied & fadul &l a2Midl g, g it uia &=l (a-E) 9 a¥ 2016 9
2021 I U dliNd [l S H HAT e | difddT & 3Hids] b TR U U &I 3R gl |

TYciiey &1 aNaR GRIAR [daRT]

o - A B C D E
G M F M F M F M F M F
2016 220 165 P15 [210 [225 155 280 205 [P35 (105
2017 330 210 H20 (310 [345 |les> 420 [315 P390 [260
2018 230 |90  B70 (240 [240 140 465 [365 M35 [325
2019 480 245 70 [420 [330 10 [630 HT0 H45 [290
2020 590 320 [530 260 [390 [315 |720 [510 [590 |460
2021 410 260 320 [360 [540 345 [780 |[605 580 [490
The number of female athletes who participated from country E in the year 2020 was % of the total number of

athletes who participated from Country B in the year 2019.
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The following table shows the distribution of male (M) and female (F) athletes who participated in an Annual Sports Event
from five different countries A-E over the years 2016 to 2021. Based on the data in the table, answer the question.
Year-wise Country-wise Distribution of Athletes.

Countries — A B C D E
lears | M F M F M [F M [F M F
2016 220 |165 315 [210 225 |155 [280 |205 235 [105
2017 330 210 H20 310 [345 165 K20 [315 [390 [260
2018 230 190 [370 [240 [240 |140 Me> [365 M35 (325
2019 M80 (245 70 [420 330 210 1630 [470 M45 1290
2020 390 (320 [530 260 [390 [315 [720 (510 [590 [460
2021 H10 260 [320 360 [540 [345 [780 [605 [680 [490

fFafaRad difeidt 39 9o (v) SR Afedl (F) Tdicy o faavvl &l axiidl 5, SgiH fafid ufd &2 (a-E) Y a9 2016 9
2021 I U dliNd [l S H HAT e | difddT & 3Hids] b TR U U &I 3R gl |

TYciiey &1 aNaR GRIAR [daRT]

o o A B C D E
G M F M F M F M F M F
2016 D20 165 P15 [210 [225 [i155 [280 [205 |35 |105
2017 330 10 B20 [310 [345 165 [420 315 [390 [260
2018 230 |00 70 [240 [240 [140 [465 [365 P35 [325
2019 180 P45 570 [420 [330 P10 [630 [70 {45 |90
2020 500 320 [530 [260 P90 P15 [720 [510 [590 [460
D021 110 P60 P20 [360 [540 [345 [780 [605 [680 [490

In the year 2017, the total number of athletes who participated in the event was the second highest from country
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The quality of one's memory can generally be judged on the basis of his/her

. Power of retention

. Analytical ability

. Communication skills

. Mathematical numeracy

B R O R

1) 1
(2) 2
(3) 3
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2[Option ID=32722]

3[Option ID=32723]
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Given below are two statements:
Statement I ; Padlet is a game based platform used in educational institutions to create quizzes, conversations and surveys.

Statement IT : Seasaw is an app-based platform that allows students to work together on texts, PDFs drawings and videos
etc.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement I are incorrect.
3. Statement I is correct but Statement IT is incorrect,
4, Statement I is incorrect but Statement II is correct.
(1) 1
2) 2
3) 3
(4) 4
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1[Option ID=32725] Question Description : general_paper_genarel paper_set 15_english_q7
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Given below are two statements:
Statement I ; Vygotsky emphasized the significant role played by adults and more abled peers in children's learning.

Statement IT The zone of proximal development is the area, where the child solves a problem alone without the help of
others.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement I are incorrect.
3. Statement I is correct but Statement IT is incorrect.
4, Statement I is incorrect but Statement II is correct.
(1) 1
2) 2
3) 3
4) 4

BIEEAGIE A CURI
DY 1 : AT H Sadl & U T TD] 3R 31D G (A1) Jeuriad! o1 YiisT W §d 6T |

WFH%I . GHIUR TIHTY &1 & (SH) 98 & © forad Bis a= (941 fhdl 31 &1 Hgidl § 3fdhdl of AW &l JATHH
PRl g |

SWRIdd B & 3Hidid H, i ST U [dbedl § U G99 Jugdd IR & 99+ HIfIT:
L. FYFIAR A IS E |
2. HYTT AR I GHI T § |
3. DY 198! 6, Al HYA 1 TTd © |
4. YT 17Ad 8, b1 HYT I TSI G |

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=32729] Question Description : general_paper_genarel paper_set 15_english_q8
2[Option ID=32730]
3[Option ID=32731]
4[Option ID=32732]
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According to David and Johnson, which of the following are the basic elements of cooperative learning groups?

A. Self conceptualisation

B. Individual accountability
C. Skill development

D. Positive interdependence
E. Promotive interaction.

Choose the correct answer from the options given below.

1. A, C and D only

. A, BandE only
.B. D and E only

. A, B,Dand E only
(1) 1

) 2

3) 3

(4) 4
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1[Option ID=32733] Question Description : general_paper_genarel paper_set 15_english_q9
2[Option ID=32734]
3[Option ID=32735]
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According to Kohlberg's theory the conventional level of moral development includes the following stages :

A. Obedience orientation

B. Being Nice/Relationships orientation
C. Social contract orientation

D. Law and Order orientation

E. Universal Ethical Principles orientation.

Choose the correct answer from the options given below:

1. A and E only

. C and D only
.B and D only
.B, C and E only
1) 1

(2) 2

3) 3

(4) 4
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1[Option ID=32737] Question Description : general_paper_genarel paper_set 15_english_q10
2[Option ID=32738]




3[Option ID=32739]
4[Option ID=32740]
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The tendency of researchers to subtly and inadvertently affect the behaviours of participants in a study, obscuring the true
effect of the independent variable, is called

1. Placebo effect
2. Experimenter Bias effect
3. The Hawthorne effect
4. Evaluation Apprehension effect
(1) 1
(2) 2
3) 3
(4) 4

fepdl area | iU daisi Bl FYuIdT ¥ 3R eyl UiaHINE! & s7agR IR I STa- & Ugh forad
WA TR BT IR UG HH gl Sl 8, Heard g

1. Telel gyTg
2. W di &1 Ydige UHTd (UaURHR 9199 Uhdc)
3. B YU
4. eI 3R] YHTE (SdqUH TUERH Thde)
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=32741] Question Description : general_paper_genarel paper_set 15_english_q11
2[Option ID=32742]
3[Option ID=32743]
4[Option ID=32744]
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Arrange the following components of a research paper written in APA style, in correct order

A. Figures

B. Methods

C. Introduction
D. Tables

E. Results.

Choose the correct answer from the options given below.

1.C,E.B,.D,A
2.C,B,E,D, A
3.C.B,AD.E
4. C;B;E. A D

(1) 1

) 2

(3) 3

(4) 4
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(1) 1

(2) 2

3) 3

4) 4

1[Option ID=32745] Question Description : general_paper_genarel paper_set 15_english_q12
2[Option ID=32746]

3[Option ID=32747]
4[Option ID=32748]
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The extent to which a measure yields the same scores across different times, groups of people, or versions of the instrument,

is called:

. Reliability

. Content validity

. Construct validity
. Predictive validity
1 1

(2) 2

3) 3

(4) 4
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1[Option ID=32749] Question Description : general_paper_genarel paper_set 15_english_q13
2[Option ID=32750]
3[Option ID=32751]
4[Option ID=32752]
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Given below are two statements:

Statement I: Snowball sampling is a type of random sampling.

Statement IT: Snowball sampling is helpful when participants belong to hard-to-reach groups.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement I are incorrect.
3. Statement I is correct but Statement II is incorrect,
4, Statement I is incorrect but Statement II is correct.
(1) 1
(2) 2
3) 3
(4) 4




I T e AT e g:

DY 1 : Hidlel Uidd, refasd Uiddagd &1 Ud YHR 3 |

DY 11 - FidTd Ufc=a 39 T & 9grd gidl 8 ofd Ufauri U8 gl 9 Yditd gid § 5 db uga1 Hid-giarg |
SWRIdd B & el H, i [GU U fdbedl @ 4 999 ugdd IR &1 99+ SIS

L. PR OGH T ¢ |

2. HUA AR I GHI A |

3. DY 11 ¢, A HYT T 6 |

4. BYT 1710 8, AT HYT 1 FeI © |

(1) 1
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1[Option ID=32753] Question Description : general_paper_genarel paper_set 15_english_q14
2[Option ID=32754]
3[Option ID=32755]
4[Option ID=32756]
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In the case of negatively skewed distribution

1. Mean < Mode = Median
2. Mean = Mode = Median
3. Mean = Median > Mode
4. Mean < Median < Mode

1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=32757] Question Description : general_paper_genarel paper_set 15_english_q15
2[Option ID=32758]
3[Option ID=32759]
4[Option ID=32760]
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One of the cool media of communication Is:

Print
Television

. Photograph
Radio

B

(1) 1
() 2
(3) 3
4) 4
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1[Option ID=32761] Question Description : general_paper_genarel paper_set 15_english_q16
2[Option ID=32762]

3[Option ID=32763]
4[Option ID=32764]
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In mass communication print is considered as a/an

. Folk medum

. Electronic medium

. Mechanical medium
. Ordinary medium
1) 1

) 2

3) 3

(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

B O R

VLI

1[Option ID=32765] Question Description : general_paper_genarel paper_set 15_english_q17
2[Option ID=32766]
3[Option ID=32767]
4[Option ID=32768]

Sl. No.18
QBID:15201018

Which of the following are the characteristics of interactive communication ?

AL Tt is decentralised.

B. It is state controlled.

C. It is highly centralized.

D. It is a two-way communication.
E. It provides universal citizenship.

Choose the correct answer from the options given below:

.A, B, Conly
.B, C,D only
.C.D. E only
.A, D, E only
(1) 1
(2 2
(3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=32769] Question Description : general_paper_genarel paper_set 15_english_q18
2[Option ID=32770]
3[Option ID=32771]
4[Option ID=32772]
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Which of the following make classroom communication interesting?

A. Many asides while speaking

B. Fruitful discussions

C. Use of relevant transitions

D. Finding out the correct context

E. Pressurising the students with authoritarian commands.

Choose the correct answer from the options given below:

. A, Band C only
.B. C and D only
.C.D and E only
. A, D and E only
(1) 1
2) 2
3) 3
(4) 4
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2[Option ID=32774]




3[Option ID=32775]
4[Option ID=32776]
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Given below are two statements:

Statement I: The new technologies have brought in 'Market Specific Communication'.

Statement IT: The second media age has made the interactive technologies of communication to change the mediascape.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

3) 3

4) a
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JURIGd HY & ATdld H, e [GU U fddhedl H U 981 3R &1 99 DIfel:
L HYFI1NR 1A Id ¢ |
HYT 1R I G S E |

3. HYT 1A g, AP YT 11 3T G |

-2

4. HYT1 3T G, AT YA T TG |
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=32777] Question Description : general_paper_genarel paper_set 15_english_q20
2[Option ID=32778]

3[Option ID=32779]
4[Option ID=32780]

Sl. No.21
QBID:15201021

In a certain coding language :

A. 'odo pado fao' means 'order packed food'
B. 'pado fao sa digo’ means 'packed food is good'
C.'digo yao mao' means 'good young man'
D. "Yao mao sa sito' means 'young man is strong'

Which of the following means 'order' and 'strong', respectively in that language?

.'vao' and 'mao
.'digo’ and 'mao'
. 'pado’ and 'sito’
. 'odo' and 'sito'
(1) 1

(2) 2

(3) 3

(4) 4

T S R




ICRSINEIERETRTILIEE

3131 U131 WIS B 1R 3SR Uds Ba' g
OTS! W13 91 371 &1 1= Uds Bs 9 18 §
TS arefl redl &1 M= TS 9 a9 §

13 A3 9T el ST 3R I 39 39 % §

39 YT H FEfciad 8§ 3§ [6ud! omer HH Sey R T g

T3 2R HrAT
T&aTr 3R T3
(1) 1
(2) 2
(3) 3
(4) 4

Unwp

L S R
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1[Option ID=32781] Question Description : general_paper_genarel paper_set 15_english_q21
2[Option ID=32782]
3[Option ID=32783]
4[Option ID=32784]

Sl. No.22
QBID:15201022

In a competitive examination held in the year 2000, a total of 6,00,000 (6.0 lakh) students appeared and 40% passed the
examination. Forty percent (40%) of the total students were females and the rest were males. The pass percentage among the
males was 50%. Find the pass percentage among the females.

.25%
. 30%
.35%
. 40%
(1) 1
(2) 2
(3) 3
(4) 4

ay 2000 T IS T Ufai ulien & &l 6.00.000 (6.0 RG) fqenef SfHferd gu duT 409 faenfeal 4 uien 3ol
(URE) DI | o faenieial &1 ey Wid=Id (40%) Afgart 4f 3R a6 U2y 4 | GEuI & U1 gi- &1 Hd=Id 50% AT |
TGl & T G DT Hic=Id I HifoT |

25%
30%
.35%
. 40%
1) 1
(2) 2
3) 3
(4) 4

B O

O

1[Option ID=32785] Question Description : general_paper_genarel paper_set 15_english_q22
2[Option ID=32786]
3[Option ID=32787]
4[Option ID=32788]

Sl. No.23
QBID:15201023

What number should replace question mark (?) in the following series: 450, 473, 519, 588, 680, 795 ?

1.933
2.950
3.138
4.82
(1) 1
) 2
3) 3
(4) 4




fafciRad oae § oI 9 9w Uy ardd a8 (7) & Uid=iiftd &l
450,473,519, 588, 680, 795, ?

. 933
. 950
. 138
.82
1) 1
(2) 2
(3) 3
(4) 4

L O

I~

1[Option ID=32789] Question Description : general_paper_genarel paper_set 15_english_q23
2[Option ID=32790]

3[Option ID=32791]

4[Option ID=32792]

Sl. No.24

QBID:15201024

A businessman buys a house for ¥ 9.0 lakhs. He puts the house on rent and keeps 15% of each month's rent separately for
repairs. After paying ¥ 2106 as annual taxes on the rent. he realizes 10% annually on his investment. Find the monthly rent

of the house.

¥ 10,000
¥ 9,080
T 9,030
T 9,500

B e

1) 1
(2) 2

(3) 3

4) 4

U a2 9.0 R H U R WG © | 98 TR DI (B0 W ¢ dl © 3R TS HIG & [ B 15% YR AR
& feTU T G ¢ | Thr R aIitics R & U H 2 2,106 AGT B & UHTd, 39 AU {499 IR A1fE 100 I U

Bl § | IR &1 HIRkIes = J1d Piforg |

¥ 10.000
T 9,080
¥ 9,030
T 9,500

el Ll

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32793] Question Description : general_paper_genarel paper_set 15_english_q24
2[Option ID=32794]

3[Option ID=32795]
4[Option ID=32796]

Sl. No.25
QBID:15201025

Sum of 3 consecutive odd numbers and 3 consecutive even numbers together is 231. Also the smallest odd number is 11 less
than the smallest even number. What is the sum of the largest odd number and the largest even number?

.81
73
i
79

N

1) 1
) 2
(3) 3
(4) 4




afe; 3 AT GuH SReTail T 3 HANTT FHEEAISH &1 17 T 1Y iy 231 § 3R Tad 31 faun dem ey
DI YA Y 11 AT | 9l GaY do! favH e 3R Gy do | YHIT & A1 fdhd-1 g 2

1.81
i
i)
79

[N O]

=

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32797] Question Description : general_paper_genarel paper_set 15_english_q25
2[Option ID=32798]

3[Option ID=32799]
4[Option ID=32800]

Sl. No.26
QBID:15201026

"First it is staying out late, then it is not calling home, then wild parties, and before you know it, your life will be completely
out of control. Someday you will be glad that you had a lockdown." Which informal fallacy is committed in the above
argument?

. Red herring

. Slippery slope

. Strawman

. Appeal to authority
(1) 1

(2) 2

3) 3

4) 4

"HIYYH R dD dT62 X811, T IR IR Gied = Bl R R RS i1 o ifird g1 3R & da 319 38 90

B R

OTd, 19T Siia- G oRE Y A0 & d1e g | fhdl & 311y U gV T S dih s | & |+ SRl gfadd § $I
T SHIBIRG ddhay g ?

1. 33 g
2. T agad eaH (Ui i)
3. el (1)
4. MYPR 38
1) 1
() 2
3) 3
(4) 4

1[Option ID=32801] Question Description : general_paper_genarel paper_set 15_english_q26
2[Option ID=32802]
3[Option ID=32803]
4[Option ID=32804]

Sl. No.27
QBID:15201027

Which of the following statements are logically equivalent?

. No philosophers are industrialists.

. No industrialists are philosophers.

. All non-industrialists are non-philosophers.
. All philosophers are non-industrialists.

Cnwp

Choose the most appropriate answer from the options given below:

. A, Band C only
. A, B and D only
. A, Cand D ounly
.B. C and D only
1) 1
(2) 2
3) 3
(4) 4

N O R




fafiiRad § 9 &F ¥ &Y diidhd 30 Y 0 g 2

A Dis Y RIS SFfa g |
B. s Hi JelTufd aRiA® 781 ¢ |
c. gyl TR-IUfd IRGRIAS ¢ |
D. 9Yi gRIF® TR-IARYT E |

i e T faded! ® ¥ el SUgdd 3wk bl 90 BT

1.Had A, B3R C
2. BAd A, B AR D
3. Had A, C 3R D
4. %ad B, C 3R D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32805] Question Description : general_paper_genarel paper_set 15_english_q27
2[Option ID=32806]

3[Option ID=32807]
4[Option ID=32808]

Sl. No.28
QBID:15201028

Which of the following statements are logically contradictory to each other?

. All philosophers are industrialists.
. Some philosophers are not industrialists.
. No philosophers are industrialists.
. No industrialists are philosophers.

Cnwp

Choose the most appropriate answer from the options given below:

. Aand B only
A, C and D only
.Aand C only

. C and D only
1) 1

(2) 2

(3) 3

(4) 4

fFafeiad 8 9 &1 ¥ By difdd 0 U U -8R & ATl g 2

A. Y gRifA® Ierufd gl

B. $% GRIH® SN 781 3|
C. @i i aRiF® Iefd Te ¢
D. @l HI Il RIS 981 51

e feu U fgdedl o 9 Hed SUYdd Itk B 98- B

B R

1[Option ID=32809] Question Description : general_paper_genarel paper_set 15_english_q28
2[Option ID=32810]
3[Option ID=32811]
4[Option ID=32812]

Sl. No.29
QBID:15201029




If the statement 'No philosophers are industrialists' is given as true which of the following statements can be immediately
inferred from it to be true?

. No philosophers are rich persons.

. All industrialists are philosophers.

. Some philosophers are industrialists.

. Some philosophers are not industrialists.
1) 1

(2) 2

3) 3

(4) 4

gie gg HYUA Bis Yl SRS ST A8 & 9 & ¥U H f6gr /1 g df FyfaRad § U {69 $YH & Yol giH &l
dTabTieid 0 U A 6l S qhdl g 2

1. ®ls Yl aRiF® ol Afad 481 g |
2. 91 SETfd SRS € |
3. $9 GRIMS IR G |
4. D9 GRIMD IUIIT 8§ |
(1) 1
() 2
3) 3
(4) 4

R

1[Option ID=32813] Question Description : general_paper_genarel paper_set 15_english_q29
2[Option ID=32814]
3[Option ID=32815]
4[Option ID=32816]

Sl. No.30
QBID:15201030

According to Nyava (Classical Indian school of Logic) which means of knowledge (pramana) is used in the following
argument - "The world is an effect and hence it must have an efficient cause like all objects e.g. pots, cloth ete. do. That
efficient cause is God".

. Postulation (arthapatti)

. Inference (anumana)

. Comparison (Upamana)

. Verbal Testimony (S abda)
1) 1

(2) 2

3) 3

(4) 4

HRATY YRATG A1Hd & 38R FafcRad gfad § S 91 7 &1 9o (TH10) W § - "fay U UHTa 8 iR 9iae
g1 YUl a3l B O U HI-&1 HRS oIl dIigU, G- §d, HUS (G BB g | 98 HIU-&H HREH SHR G 1"

- 3dfufy

SHHM
STHM

Jog

B S B

B =

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32817] Question Description : general_paper_genarel paper_set 15_english_q30
2[Option ID=32818]

3[Option ID=32819]
4[Option ID=32820]

Sl. No.31
QBID:15201031

‘Which one of the following acronyms matches incorrectly with their full form ?

. ATM - Automatic Teller Machine

. SIM - Subscriber Identity Module

. GPS - Global Positioning Sensor

. GIS - Geographic Information System

B O




1) 1
(2) 2
(3) 3
(4) 4

fafarad & 9 oF W aikaof e 396 W FY (M) & T T eI qARa T8l 6 2

1. AN, - affeiafed e AT }
2. UY. 32 UH. - YeHhEar gsi<d] Alsyd
3. ol U1 9. - Telisel QIfeT=If-T IR
4. 511, 311509, - I3Ufth® 3hHIH wer
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=32821] Question Description : general_paper_genarel paper_set 15_english_q31
2[Option ID=32822]
3[Option ID=32823]
4[Option ID=32824]

Sl. No.32
QBID:15201032

Identify the correct order of the following terms A-E to complete the paragraph given below that explains how data is sent
securely over the Internet using the Transport Layer Security (TLS) protocol:

'"The browser requests the to identify itself by providing its . This is sent and a check is performed to see if it is
CIf it is, the sends a back to the web server and data transmission begins.'

. authentic

. browser

. certificate
. signal

. web server

Mmoo mw ‘

Choose the correct answer from the options given below:

1
2.E,
3.D,
4.B
1) 1

(2) 2

3) 3

4) 4

A T4U 770 TRATE &1 GR1 6= & foIu FgfaiRad A-E el & gl B &I Ugdl- Bifoid, Sl Ig oURA $Hdl ¢ fb
T OaR [aIRe (31.0e.TH.) UIeThid Pl Se3-¢ TR Ygad HRd gU hY YRIET Tid I ST (Gd) U S g 2

SR DI 3T émam:ﬁmaﬁuaaﬂmﬁw&@ﬁawélsﬂaﬁﬂww%&ﬁ?wmﬁ
gﬁr%‘%wa% TlaR T 17 dd YR &l d19Y Ueidl § 3R ST URY0T URE gl Sl
"

A UG
B. dl\3w}
C. YHTUUH
D. Faud
E. 99 ¥aR

I 16U U fd@edl | U gl 3R &1 994 B




3) 3
4) 4

1[Option ID=32825] Question Description : general_paper_genarel paper_set 15_english_q32
2[Option ID=32826]
3[Option ID=32827]
4[Option ID=32828]

Sl. No.33
QBID:15201033

Given below are two statements:

Statement I ; Al is an artificially created environment used to give a feeling of 'being there', whereas virtual reality learns
from changing circumstances.

Statement IT : Unlike dot matrix and inkjet printers, laser printers don't use ink when producing documents.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

(3) 3

(4) 4

BIEEAC IR AR U

HY1: T3NS, I8l B B AT TS I F oY HEm &0 Y FiHd T Irarervr 8, Safe smywit wmfar sead!
ORfRyfaal 9 S Rl g |

DYT11: IoR flied exdrdsil &I Sid B H /IEH (S) BT IYUIT 1 Hd, Sdich Sie A Td shaic fiied @rgl
DI W BB |

SRIad HYA & AdS H, A IS8 U f[dhedl § U U1 3R &1 994 SIS
L. PRI Td g |
HYT 1R I SEAE |

3. HUT 1A G, AP YT 11 2T § |

o]

4. PYT1 3 g, AMPTHYT I TG |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=32829] Question Description : general_paper_genarel paper_set 15_english_q33
2[Option ID=32830]

3[Option ID=32831]
4[Option ID=32832]

Sl. No.34
QBID:15201034




Which of the following are the main benefits of networking computers and devices rather than using a number of stand-
alone computers ?

A. Devices, such as printers, can be shared, thus reducing costs.

B. Licences to run software on networks are often far cheaper than buying licenses for an equivalent number of stand-
alone computers.

C. Users cannot share files and data.

D. Access to reliable data that comes from a central source, such as a file server.

Choose the correct answer from the options given below:

. Aand C only
.B. C and D only
A B.CandD

. A, B and D only
(1) 1

2) 2

(3) 3

(4) 4

ng@?uﬁﬁwmgﬁ%wﬁnaﬂﬁaﬁwﬁﬁmﬁmwﬁmswﬁ%mﬁ@m
@A g ?

A. T 519 SUdRUI DI Tr=1 a1 o bl 6, o1y a1 &H 3l © |

B. T SR B Udh YA dcd Y81 & ol igd sl & oy i gl § Aeda IR G diR &l I & digdd U
SIS T BT |

C. TSl BIEed 3R S (&1) DI I3 el B U |

D. T BT3d Yk S Udh dv-519 Fid U 3 dTet [a4T-Ig Sel (&) db Ugd |

I 15U U fgdedl H U gl 3R &1 99 HIE:

Pad AR C
.Had B, C3RD
_A,B.C3RD

. $ad A, B 3R D
1) 1

(2) 2

(3) 3

(4) 4

N S R

B R

1[Option ID=32833] Question Description : general_paper_genarel paper_set 15_english_q34
2[Option ID=32834]
3[Option ID=32835]
4[Option ID=32836]

Sl. No.35
QBID:15201035

Match List I with List IT

LISTI gt
(Cumigiear Tarin) LIST II (Description)
[Disk Utility that prepares a disk to allow data/files to

AT : :
defragmentor be stored and retrieved.

B. |Disk formatter | II. |Storage media with no moving parts.

Utility that reorganises the sectors on a hard disk
C. Device driver | IIL. |so that files can be stored in contiguous data
blocks.

Software that communicates with OS and

D. |Solid state drive | IV |iranslates data into a format understood by the
device.

Choose the correct answer from the options given below:

. A-IL B-1, C-III, D-IV
- A-IIL B-1, C-IV, D-II
. A-I, B-III, C-II, D-IV
- A-IV, B-I1, C-1, D-TII
(1) 1
(2) 2

[




3) 3
(4) 4

Gl 11 gl 11 Y e Sifoig

ksl T I
(FFI T2 @)
EEBIRG] (%‘c;l?ﬁﬂ)?sﬁl%waﬁ?
PR G & oY SermiRd
A o k Al & & ey H Ud 3%
IR DA E |

B. &% BiFet 16 Sl ey

wmﬁm;ﬁa‘f@%ﬁ?ﬂigﬂﬂ%ﬁ
" (e B UgaH :

C ST SER | ot e ST sl
veid fpar T ahar s |
TTeday. off 31l TH. & 91y aIu
= Tifers e R,m%ﬁﬁaﬁ%maﬂm

B S 'Eﬂawwqﬁﬁ?%@%ﬂm
|

i fGU 70 fqdhed! H T Ug! TR &1 98- I -

1. A-IL, B-1, C-III, D-IV
2. A-IIL, B-1, C-IV, D-II
3. A-L B-III. C-II. D-IV
4. A-IV, B-1I, C-I, D-III

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32837] Question Description : general_paper_genarel paper_set 15_english_q35
2[Option ID=32838]
3[Option ID=32839]
4[Option ID=32840]

Sl. No.36
QBID:15201036
Ea ]

Which of the following is measured in Dobson Units?

. Chloro Fluoro Carbon (CFC)
. Stratospheric Ozone

. Ultraviolet Rays

. Solar Radiation

(1) 1

(2) 2

(3) 3

(4) 4

FafcRad # ¥ fdbdd J199 &l 3hls Slad g 2
1. FARI UIRI HIa (JUH)

2. U H3did 3ol
3. RIS fdbof
4. IR fafdror

1) 1

(2) 2

3) 3

(4) 4

B R B

1[Option ID=32841] Question Description : general_paper_genarel paper_set 15_english_q36
2[Option ID=32842]
3[Option ID=32843]
4[Option ID=32844]

Sl. No.37
QBID:15201037




Photo Electro Chemical (PEC) solar cells are based on

. Only inorganic semiconductors

. Only organic semiconductors

. Only crystal silicon semiconductor

. Hybrid structure of inorganic semiconductors and an electrolyte
1) 1

(2) 2

3) 3

(4) 4

Bic] Icidel dhifdd (U3 9l) IR U [y W eRd g 2

. $ad SfdleHd Aded (FHGTdR)

. Had PE-dH AAAD

. $ad foheed [Gferdiq sieidrdas

. HBIED HfAAD] 3R U Iclaeidize bl b U]
1) 1

) 2

(3) 3

(4) 4

T O B

B

1[Option ID=32845] Question Description : general_paper_genarel paper_set 15_english_q37
2[Option ID=32846]
3[Option ID=32847]
4[Option ID=32848]

Sl. No.38
QBID:15201038

Match List I with List IT

LISTI LISTII
(Summit/Protocol) (Year)
A. Montreal Protocol I. |1992
B. |Rio Summit I 2015
C. [Kyoto Protocol II1. 1987
D |Paris Agreement IV |1997

Choose the correct answer from the options given below:

.A-IILL B-1L C-IV, D-1I
. ACIILL B-1, C-IL, D-IV
.A-L B-II0, C-1I1, D-IV
. A-TV, B-11L C-1. D-III
(1) 1
(2) 2
3) 3
(4) 4

el 11 Gl 11 U e sifee

B B

T =
Rrer g / vieisT) )
A [ifegd Uieidid I |1992
B. [xal AraR 9= 1. po1s
C. [@rel Ueidld 1L [1987
D [ORg g9l TV [1997

i feu U fasmet! § 9§ Uel 3wk &1 99 Diforu

1. A-IIT, B-1, C-IV, D-II
2. A-II1, B-1, C-IL, D-IV
3. A-L, B-III. C-IL, D-IV
4. A-IV, B-II, C-I. D-III

11

(2) 2

(3) 3

(4) 4




1[Option ID=32849] Question Description : general_paper_genarel paper_set 15_english_q38
2[Option ID=32850]
3[Option ID=32851]
4[Option ID=32852]

Sl. No.39
QBID:15201039

Thermal expansion of oceans may lead to

. Global warming

. Ozone depletion

. Melting of glaciers
. Sea level rise

(1) 1

(2) 2

(3) 3

(4) 4

g% & AU UER 9 gl 9hdl/ Gl g |

B R R

1. A% dmaE
2. S 3fgem
3. fgu Afel (aifRmaRh & g

4. % TR A I
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=32853] Question Description : general_paper_genarel paper_set 15_english_q39
2[Option ID=32854]

3[Option ID=32855]
4[Option ID=32856]

Sl. No.40
QBID:15201040

Waste stabilization ponds are:

A. Mainly oxidation ponds

B. Used to remove pathogen and organic contents
C. Natural treatment systems

D. Extremely quick

E. Most efficient in extremely cold weather.

Choose the correct answer from the options given below:

. A, Band C only
.B. C and D only
. A, Band E only
.C,D and E only
1) 1
(2) 2
3) 3
(4) 4

SUTRY YRR S § -
A. TG HGHIPI0 H3
B. [SH® [ I0SHS U4 oI 3120 &1 ge H Ui fdbar Sar g
C. UIpiad e
D. AP g
E. A =i diod # 9aifds qe

i fau e fadedl § 9 Ul 3R &1 994 DifoE:

1. $ad A, B3R C
2. %dd B, C 3R D
3. Had A, B3R E
4. $adC, D IAIRE

B R




(1) 1

(2) 2

3) 3

4) 4

1[Option ID=32857] Question Description : general_paper_genarel paper_set 15_english_q40
2[Option ID=32858]

3[Option ID=32859]
4[Option ID=32860]

Sl. No.41
QBID:15201041

Given below are two statements:

Statement-I: The Governor of the State is the Chancellor of deemed universities.
Statement-II: Deemed universities can design their own syllabus and course work.

In the light of the above statements, choose the carrect answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.
1) 1
) 2
(3) 3
(4) 4

A4 el By G U g:
SHY 1 : ST B IFUTd "Il (SIE3) fagyfaeredt &1 panaufd giarg |
DY 11 : AT [ayfdenery U+ Wd & Uil H Ud DI ddb Dl SHB AT HR Fdhdl 3 |
SIRIGd HYT & 2Tl H, I fGU T fdbedl § I G5l SR &1 994 DI
1. YT AR IS HIE |
L BYT1 AR 1 Gl A E |
3. PYT 1A &, Al DY 1 3G |

[

4. PYF13T g, AT HUH I IA G |

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32861] Question Description : general_paper_genarel paper_set 15_english_q41
2[Option ID=32862]

3[Option ID=32863]
4[Option ID=32864]

Sl. No.42
QBID:15201042

What is the full form of DIKSHA'?

. Digital Infrastructure for Knowledge Sharing
. District Institute for Knowledge Sharing

. Data Information and Knowledge Sharing

. Digital Institution for Knowledge Sharing

B O R

1)1
(2) 2
3) 3
(4) 4




Sl BT YU FU R 2

&S S ReER BR Al 2RI
[8Reae s=Tege Bk Alds T

. 3TC1 AHTHR TS Hlelol AR
[&fSTed S TeRM SR Alds 1T
(1) 1

(2) 2

(3) 3

(4) 4

B s

1[Option ID=32865] Question Description : general_paper_genarel paper_set 15_english_q42
2[Option ID=32866]
3[Option ID=32867]
4[Option ID=32868]

Sl. No.43
QBID:15201043

Which of the following are the key ingredients of quality in-service teacher training?

A. Preparation of training material

B. Assessment of training needs

C. Development of appropriate curriculum/Modules

D. Assessment of the impact and outcome of the training.

Choose the most appropriate answer from the options given below:

. Aand D only
.Band C only

. A, Cand D only
A, B, CandD
1 1

(2) 2

(3) 3

(4) 4

YaRd e UfRiemr 1 urEdl & WE b9ed FEfafad § 9 S I E 2

A. UT1E07 9ol TR BT

B. UTRI&(U Sa=adbdradl &1 Gedichd dHeAl

C. SUYTd YIS / HISded (b ¥rd BT

D. UFRI&U1 & WU Ud GRUM b1 Yol SRl

B S R e R

e feu U fgdedl o 9 Hed SUYd ITR B 98- HIfog:

1. Had A 3R D
2. $HIdB 3R C
3.HAT A, C 3R D
4.A,B,C3RD
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=32869] Question Description : general_paper_genarel paper_set 15_english_q43
2[Option ID=32870]

3[Option ID=32871]
4[Option ID=32872]
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According to NEP 2020 more HEIs shall be established and developed in underserved regions to ensure full

. Access, Equity and Inclusion

. Accountability, Equality and Integration

. Assessment, Equivalence and Identity

. Autonomy, Effectiveness and Implication

e A

@) 1




) 2
3) 3
(4) 4

UAS U1 2020 & 3HR, 37ed UdT YT &1 T FyfaRad 9 9 {68 qol &0 U 9Hfad o3 & o0 siféis 3= fRien GyH=
(TES318) &I RITYAT U9 faHM faoan SR 2

1. ST, 9 G@fdd) SR gah
2. WG, GHFCT 3R THIHI
3. i, Jeddl 3R UgaH
4, WO, UHITEar 3R Ffgard

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32873] Question Description : general_paper_genarel paper_set 15_english_q44
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3[Option ID=32875]
4[Option ID=32876]
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Which of the following recommendations were put forward by University Education Commission appointed after
independence by the Indian Government concerning medical education in India?

A. Medical colleges should admit a maximum number of hundred students.

B. History of medicine with special reference to Indian systems should be taught in the first degree course in medicine.
C. More importance should be attached to Public health, Engineering and Nursing.

D. There should be provision of ten beds per student admitted in the medical college.

Choose the correct answer from the options given below:

. Aand B only
.Band C only
.B. C and D only
CAB,CandD

) 1

) 2

(3) 3

(4) 4

YRA WRBR GRI AT & U HRd H 1S [ayiaemerd e smanT grr i fRign 9 Saftd ufquniéd s
fAgfaRad # g o[ I of 2

A HieHd sl i AfUdHdd Ol [qenfial & udw &A1 =1igu |

B. HRd1G UGfa & fa=iy ey o 9y &1 3faery i & uyd f33 urgusd | uerl SiHT g1 |
C. S TR, SSiifafir iR AR o it A &t T1feu |

D. Afedhd Bids H Fa2l foru ufd faenif v &8 3@ &1 3udy gi-1 91U |

I 16U U fd@edl | U gl 3R &1 994 B

1. 5ad A 3R B
2. HAAB AR C
3. $dd B, C 3R D
4.A.B,C3RD

(1) 1

(2) 2

3) 3

4) 4

B B B
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Read the following passage and answer the question.

It was in this atmosphere of intense antagonism and hostility that Gokhale introduced his Elementary Education Bill in
1910. He called it 'a small humble attempt to suggest the first steps of a journey, which is bound to prove long and tedious,
but which must be performed. if the mass of our people are to emerge from their present condition'. Gokhale argued :

Free and compulsory education is the first remedy of all the remedies to be applied...without compulsion the educational
developments in the last 60 years have been hopelessly slow. The only way that the world has discovered to secure universal
education in a country has been by making it compulsory and free. Compulsion would operate harshly on the poorer classes
of the community if it is not made free.

He suggested that only those students whose family income was 25 rupees and above per month should pay fees; for the
rest, education was to be free. Out of the total expenditure required for it, two-thirds should be borne by the state and one-
third by the local bodies. He suggested imposing an additional 8-anna tax on salt on the grounds that 'my countrymen should
eat less salt than that their children should continue to grow up in ignorance and darkness'.

FafaRad T &1 ufed SR Uy &1 IR 2ol |

¢ faRIY 3R G- & 241 araraRol § 7RG = Uit el [98ae $1 ay 1910 H WEd fhal | i 39 39 I:l &
Ugdl TN ] Udh BIcl fa49 Wary admn ol ddl SR ®fd- 81 gl tid afe Sd1 &I adgr ffd 9 I ¢, dl 29
A1 b1 o HRAT G gl I

TRgcl A db fear M:gedh IR HHard g fd - ared Gl Iurdl § ygann 3ur g sifHarial & fo-r e 6o anf o
TR1& &1 [9H RIS U H W81 | GHA1 DI I8 Ual o 711 ¢ fob Tl o= 1 il o fre TR giied o
& U ThHE U™ 39 S YT (e a9 € | afe 29 (e =181 9411 41, o1 dad A §91 9 9
TRId ddd| W F5gRdIddd gard STl S |

35+ Y4 e & daa 34 faentdal &, e uRaR &1 A1¥d o1 25 304 3R 39 S 8, Yedb & YIdH

B FIgT: 1! faenidal & foru fRign F:yed gi-il 91fgT | 39 foU 2uféid o o0y &1 l-fdgrg YN Iy gR1 7Yl

Ueh-{deTs Y IR o[l gRI dg faa ST diet | 3-i- Yaira el i Hd IR R -3 &1 sifaRed d

%mﬁﬂ?maﬂm S Mg U b "SR SRER SHH 98 WdhR B Il dlid 3d dad SR a4l USRI 7
III

According to Gokhale, what percentage of the total expenditure on education should be borne by the state?

1. ~25%
2.~33%
3.~ 66%
4. ~75%

(1) 1

(2) 2

3) 3

(4) 4

TRGl & R oY I A& R g aTd Hof 99 D1 fohd=T1 Uid=Id ag- D=1 d1igy 2
l.~25%
2.~33%
3. ~66%
4. ~75%

1) 1

(2) 2

3) 3

(4) 4
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Read the following passage and answer the question.

It was in this atmosphere of intense antagonism and hostility that Gokhale introduced his Elementary Education Bill in
1910. He called it 'a small humble attempt to suggest the first steps of a journey, which is bound to prove long and tedious,
but which must be performed. if the mass of our people are to emerge from their present condition'. Gokhale argued :

Free and compulsory education is the first remedy of all the remedies to be applied...without compulsion the educational
developments in the last 60 years have been hopelessly slow. The only way that the world has discovered to secure universal
education in a country has been by making it compulsory and free. Compulsion would operate harshly on the poorer classes
of the community if it is not made free.

He suggested that only those students whose family income was 25 rupees and above per month should pay fees; for the
rest, education was to be free. Out of the total expenditure required for it, two-thirds should be borne by the state and one-
third by the local bodies. He suggested imposing an additional 8-anna tax on salt on the grounds that 'my countrymen should
eat less salt than that their children should continue to grow up in ignorance and darkness'.

FafaRad T &1 ufed SR Uy &1 IR 2ol |

¢ faRIY 3R G- & 241 araraRol § 7RG = Uit el [98ae $1 ay 1910 H WEd fhal | i 39 39 I:l &
Ugdl TN ] Udh BIcl fa49 Wary admn ol ddl SR ®fd- 81 gl tid afe Sd1 &I adgr ffd 9 I ¢, dl 29
AT &l d BHAT g1 g I

TRgcl A db fear M:gedh IR HHard g fd - ared Gl Iurdl § ygann 3ur g sifHarial & fo-r e 6o anf o
TR1& &1 [9H RIS U H W81 | GHA1 DI I8 Ual o 711 ¢ fob Tl o= 1 il o fre TR giied o
& U ThHE U™ 39 S YT (e a9 € | afe 29 (e =181 9411 41, o1 dad A §91 9 9
TRId ddd| W F5gRdIddd gard STl S |

35+ Y4 e & daa 34 faentdal &, e uRaR &1 A1¥d o1 25 304 3R 39 S 8, Yedb & YIdH

B FIgT: 1! faenidal & foru fRign F:yed gi-il 91fgT | 39 foU 2uféid o o0y &1 l-fdgrg YN Iy gR1 7Yl

Ueh-{deTs Y IR o[l gRI dg faa ST diet | 3-i- Yaira el i Hd IR R -3 &1 sifaRed d

%mmm@mdw I1ieU o "GHUR SRER HH qHdb WdHR B Il dlid 3d dod SR a4l SUHR o 7
III

Given below are two statements:

Statement-I: Gokhale believed that education was necessary for the Indian masses to be liberated from their miserable
condition.

Statement-TI: Gokhale faced little resistance in the introduction of his bill on elementary education.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I is incorrect but Statement II is correct.
(1) 1

(2) 2

(3) 3

(4) 4

@ pyT fler MU g
SHYF1 - 7RG BT Ug THAT YT b YR B ST bl SHD! G- =11 U fckd o Te1T e SH1a29e ¢ |
DY 11 - WA TR1e Gl fqeg e Ueqd H3- § 7RGl Bl dgd HH fa1e &1 Y- o1 U |
SRIK] S & 3P 4, i fGu U [ddheti o 4 999 IugR IR BT 9949 Difole:
1. B ISR I G 93 ¢ |
YT 1R TG TTed |
3. HYF 1981 3. AT HYT n T g |
4. DY 170 &, AlbT DY T TR § |

B R

[




(1) 1

(2) 2

3) 3

4) 4
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Read the following passage and answer the question.

It was in this atmosphere of intense antagonism and hostility that Gokhale introduced his Elementary Education Bill in
1910. He called it 'a small humble attempt to suggest the first steps of a journey, which is bound to prove long and tedious,
but which must be performed, if the mass of our people are to emerge from their present condition'. Gokhale argued :

Free and compulsory education is the first remedy of all the remedies to be applied...without compulsion the educational
developments in the last 60 years have been hopelessly slow. The only way that the world has discovered to secure universal
education in a country has been by making it compulsory and free. Compulsion would operate harshly on the poorer classes
of the community if it is not made free.

He suggested that only those students whose family income was 25 rupees and above per month should pay fees; for the
rest, education was to be free. Out of the total expenditure required for it, two-thirds should be borne by the state and one-
third by the local bodies. He suggested imposing an additional 8-anna tax on salt on the grounds that 'my countrymen should
eat less salt than that their children should continue to grow up in ignorance and darkness'.

FafaRad T &I ufed SR Uy &1 IR aifel |

& Ty 3R -8 & 241 ardraRyl | TR 9 Uiyt e [99ge o1 9y 1910 T U a1 | 3l 38 S UEl &
Ugd @RU1 &I Udh SIeT 1974 UGN Sl Sl dell 3R S 81 g7l U aie Sl &I dddH R 9 I 8, 1 29
AT bl I BT 1T I

TRgcl 9 deb fear M:gedh 3R HHard g fd S ared 9y Iurdl § ggel U g sffHaridal & fo-r fied 6o anf §
TR1&/1 1 fABI RIS U Y ARG § | §iHAT &1 98 Udl & 711 g fob Tt oxr o et o e TR1em gAiaa &=
& U UhTH S Y AaR qul e &M 8 | AiE 39 MiYed 8T <11 1, ol Sad A 9910 9 9
R4 ddd| TR F5gRdgdd aa1d STal S |

35l A4 T fa bad 3 [qaiial i, f5qs uRar & Aiie 2 25 30 SR 394 4 8, Yeb B YA

1 FIgT: STt faenidal o feru fRien e gi-il 91fge | 39 [T 2Uféid ol gy &1 &l-fdgrs W Iy gR1 ayl

Teh-fdgTs YN R Ml §R1 a8 f6d1 STHI 16T | 3gi- GId &3 fob 10 TR 3fdied 8- BT SHidiRed B

ﬁ&ﬂﬁﬂ?mﬁwwdl F118T fob "gHR SRarl & Hd @R H1H Jard diids 3d dad SR dYl bR § 9
III

Which of the following can be inferred from the passage?

A. The growth of education in India was very slow prior to 1910.

B. There was a need to make education compulsory for all according to Gokhale.

C. Gokhale believed that achieving education for all Indians was a distant dream.

D. Gokhale suggested that majority of expenditure for education should be met by local bodies.

Choose the correct answer from the options given below:

. A, Band C only
. B, C and D only
. A, B and D only
. A, Cand D only
1) 1
(2) 2
3) 3
(4) 4

B R




Y TR Y FRfaRad # U - iy T off 9dd § 2

A. Y 1910 & Ugd YR H &1 &1 fahry agd He T |

B. 7RG & 3TUR Tl o fe1u fug siiard & &1 siiaxgehr &t |

C. TRad T AT 4T fob G YRl & Teiu fRu&m 1 Uit & 1 9o 7 |

D. Tl 4 Y14 f&a fdb [Rien & feu sidsie o RiHE Har@l gR1 98 fdbdr S 9nigu |

1 feu U fadet! | T Il SR &1 98- BHifort:

1.Had A, B3R C
2. $add B, C 3R D
3. Had A, B AR D
4. %dd A, C 3R D

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=32889] Question Description : general_paper_genarel paper_set 15_english_q48
2[Option ID=32890]
3[Option ID=32891]
4[Option ID=32892]

Sl. No.49
QBID:15201049

Read the following passage and answer the question.

It was in this atmosphere of intense antagonism and hostility that Gokhale introduced his Elementary Education Bill in
1910. He called it 'a small humble attempt to suggest the first steps of a journey, which is bound to prove long and tedious,
but which must be performed, if the mass of our people are to emerge from their present condition'. Gokhale argued :

Free and compulsory education is the first remedy of all the remedies to be applied...without compulsion the educational
developments in the last 60 years have been hopelessly slow. The only way that the world has discovered to secure universal
education in a country has been by making it compulsory and free. Compulsion would operate harshly on the poorer classes
of the community if it is not made free.

He suggested that only those students whose family income was 25 rupees and above per month should pay fees: for the
rest, education was to be free. Out of the total expenditure required for it. two-thirds should be borne by the state and one-
third by the local bodies. He suggested imposing an additional 8-anna tax on salt on the grounds that 'my countrymen should
eat less salt than that their children should continue to grow up in ignorance and darkness'.

FrafaRad e &l ufed SR Uy &1 IR aifl |

¢ Ty 3R 98-8 & 241 ardraRul | TRael 9 Uiyt e [9ege o1 9y 1010 H UXdd fban | 351 38 99 U6l &
Ugd @RI ] Udh BIc] fa49 Uy adrdn ol el iR ®id- g1 girit, tid gie S-d1 &I adur fifd ¥ IsA1 ¢, dl g9
AT I 7 HATGI I I

TRgd A dd e Mo oIk sifard fRien {6 S ard 9eft Surl § gl 3ur & SHarddl & fadr s 60 auf o
TR1&1 1 fAbY FRIATSHS &0 Y ¢iH1 381 3 | g1 Bl I8 udr o 711 g o fhdl o= o 9t & foru e gfHiad o
& AU UBHE SU 39 Hfard 9yl (e a1 § | afe 39 Mo g1 S1am T, |l dad e 9 o 9
TRId ddeh] UR [5gRdIgd e gaTd STell S |

e+ Y3 e & daa 34 faenfdat &1, foFd aRaR 31 7if¥e o 25 Iu 3R WY &6 ¢, Yeb BT YITaH

B3I g 1! faenfdfal o feru fRien F:eb gi-il 91fgy | 39 U ofuféid ol o0 &1 &l-fdgrs YN I gRI aUl

Ueh-fags UIT R Faml gR1 g favan SiH1 91ige | 3-si- g2id &1 b e W SifaRed 8- &1 sfdivad &

ﬁmmwmwaﬂ%ﬁﬁwsﬂﬁmwwwwwﬁﬁmﬁmw 3R |
III




Given below are two statements:

Statement-I: Gokhale believed that education should be made free for the poor people.

Statement-TII: Gokhale suggested that an additional tax of 8-anna should be imposed on salt.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I is incorrect but Statement II is correct.
(1) 1

(2) 2

3) 3

4) a

TRaHyTfeuug:
©Y 1 : TR BT HHAT 4T T TRIS 11T bl fe e fH:=[eb &1 ST <1ig |
DY 11 - TG 4 Y19 &1 o 91D WR 8 -1 D1 ifcdfRed DR 1l <=1 91igy |
SWRIc] B & D 4, Aid fGU U [ddh el T U 999 Iugcrd IR &1 999 DI
L HFEIMROGA TR E |
2. HYTT AR I GHI T § |
3. PYT1 g1 ¢, AT HYT T 6 |
4. BYT17Ad ¢, AT PYT T FEI § |

(1) 1
() 2
(3) 3
(4) 4

e
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Read the following passage and answer the question.

It was in this atmosphere of intense antagonism and hostility that Gokhale introduced his Elementary Education Bill in
1910. He called it 'a small humble attempt to suggest the first steps of a journey, which is bound to prove long and tedious,
but which must be performed. if the mass of our people are to emerge from their present condition'. Gokhale argued :

Free and compulsory education is the first remedy of all the remedies to be applied...without compulsion the educational
developments in the last 60 years have been hopelessly slow. The only way that the world has discovered to secure universal
education in a country has been by making it compulsory and free. Compulsion would operate harshly on the poorer classes
of the community if it is not made free.

He suggested that only those students whose family income was 25 rupees and above per month should pay fees; for the
rest, education was to be free. Out of the total expenditure required for it, two-thirds should be borne by the state and one-
third by the local bodies. He suggested imposing an additional 8-anna tax on salt on the grounds that 'my countrymen should
eat less salt than that their children should continue to grow up in ignorance and darkness'.

FafaRad T &1 ufed SR Uy &1 IR 2ol |

¢ faRIY 3R G- & 241 araraRol § 7RG = Uit el [98ae $1 ay 1910 H WEd fhal | i 39 39 I:l &
Ugdl TN ] Udh BIcl fa49 Wary admn ol ddl SR ®fd- 81 gl tid afe Sd1 &I adgr ffd 9 I ¢, dl 29
AT &l d BHAT g1 g I

TRgcl A db fear M:gedh IR HHard g fd - ared Gl Iurdl § ygann 3ur g sifHarial & fo-r e 6o anf o
TR1& &1 [9H RIS U H W81 | GHA1 DI I8 Ual o 711 ¢ fob Tl o= 1 il o fre TR giied o
& U ThHE U™ 39 S YT (e a9 € | afe 29 (e =181 9411 41, o1 dad A §91 9 9
TRId ddd| W F5gRdIddd gard STl S |

35+ Y4 e & daa 34 faentdal &, e uRaR &1 A1¥d o1 25 304 3R 39 S 8, Yedb & YIdH

B FIgT: 1! faenidal & foru fRign F:yed gi-il 91fgT | 39 foU 2uféid o o0y &1 l-fdgrg YN Iy gR1 7Yl

Ueh-{deTs Y IR o[l gRI dg faa ST diet | 3-i- Yaira el i Hd IR R -3 &1 sifaRed d

%mmm@mdw I1ieU o "GHUR SRER HH qHdb WdHR B Il dlid 3d dod SR a4l SUHR o 7
III

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:

Assertion-A : Gokhale was not in favour of free education for the poor.

Reason R: He suggested that those students whose family income was Rs. 25 per month or more, should pay the education
fees.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is NOT the correct explanation of A.
. A Is correct but R is not correct.

. A Is not correct but R is correct.

(1) 1

(2) 2

3) 3

(4) 4

A1 &l ®Y AU U §: Udh MUY (Assertion A) & U H [RId § ol IR IUh HRUI (Reason R) & ¥ H:
SHYDHYF A - TGl TRIET & (1T = A& & uef J g1 U |

SRR : 351 Y14 fea fa o faanidial & uRaR &1 w1 o1 25 308 3{yd1 399 3Hied 8, 35 [RIe Yeob HI
I BT 15T |

SWRIc] B & Hdld 4, Hid fau U fadh el o 3 994 Sugdd SR &1 994 DI |
CASRREGHI TSI € 3R R, A DI UG ARATG |

_AJRREHI TR g, iR, A DI UG ARG 11 © |
AR gaibAR UG AR T |

4. A9l gl g dlbAR TRl © |

) 1

e A

L O R




(2) 2

3) 3

(4) 4

1[Option ID=32897] Question Description : general_paper_genarel paper_set 15_english_q50
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Paper II : 8-Commerce
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Which one of the following non-tariff barriers is to be adequately addressed by India while signing FTA with any country
that has potential to import fruits, vegetables and other plant based products from India?

. Phytosanitary regulations

. Sanitary regulations

. Complex Registrations

. Restrictive customs procedure

e o O

(1) 1
2) 2
3) 3
(4) 4

URA Y B, Aieardt 3R a-eafc AR =1 YUYV ST a1d SdIal g HRd gRT ! G & 914 U ¢ U R
TXIER TRd Y HARgd H ¥ 69 URedh ok PRIER R G4 U § 1 a1 11§ 2

1[Option ID=32901] Question Description : commerce_commerce_set 1_english_q1
2[Option ID=32902]
3[Option ID=32903]
4[Option ID=32904]
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According to the Heckscher-Ohlin theory, which one of the following statements is correct?

. Trade should take place among countries that have greater differences in their factor endowments.

. A country with a relatively cheaper cost of labour would export labour-intensive products

. Country benefits from international trade even if it is less efficient than other nations.

. Countries with the proximity of geographical locations would have greater trade compared to the distant ones.

e R

1)1
(2) 2
(3) 3
(4) 4

geR-SMeleH gl & ouR, Fefafad ¥ 4 & -9 H29 ¥l g 2

1. 3 <211 & ofid AR {1 ST 913U S5 Idg &Y & o o1fd 3R g |

2. SR, ToTH HTUfar 9 AT Ol §, YH-99H 3G ol +aid B |

3. 98 O ISR a@T =0 g8 =1 SI el H & HH ©, 98 2RI HUR I ¢lH UItd 16 |
4. YIfcies RS I Febedl aTd G2 gRadl 21 &1 g1 § 24fie R S |

(1) 1
(2) 2
(3) 3
(4) 4
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Which one of the following FTA was signed in February, 2022 and came into force in May, 2022?

. AI-'ECTA Australia - India Economic Cooperation and Trade Agreement

. India-UAE Comprehensive Economic Partnership Agreement (CEPA)

. India-Nepal Treaty of Trade

. India-Singapore Comprehensive Economic Cooperation Agreement (CECA)

B R R

(1) 1
) 2
(3) 3
(4) 4

FfRId # {4 U%.d1.0. IR BRaRl, 2022 H 5IeR [GU I 3R |, 2022 H yafdd faar mar 2

USRS SRS YRd oMidd Ygdl Uay AR HRR
. YRd-gUs AH ATE THeRl R (HRUIT)
- YRA-FHMYR AU 31 HganT &R (Hisdiv)

1) 1
(2) 2
3) 3
(4) 4
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The Government of India on 27-9-22 extended the existing Foreign Trade Policy (2015-20) upto which one of the following
on account of volatile global economic and geo-political situation and currency fluctuations?

. December, 2022
. March, 2022

. September, 2023
. December, 2023
(1) 1

2) 2

(3) 3

4) 4

YR DR A f&A1D 27-9-22 Bl Gl IAR-deld Pi HRR I 1itd YIo-ifdd RUfd & dde & adar facw
IR HIfd (2015-20) FT HGRIT H T [0 999 96 & (U fadR fear g 2

1. f&gaR, 2022
2. Hd, 2022
3, TdeR, 2023
4. f&TeR, 2023

1) 1

() 2

(3) 3

4) 4

B R A

1[Option ID=32913] Question Description : commerce_commerce_set 1_english_q4
2[Option ID=32914]
3[Option ID=32915]
4[Option ID=32916]

Sl. No.5
QBID:18005

Which one of the following Ind AS is related to "The Effects of Changes in Foreign Exchange Rates"?

.Ind AS 19
.Ind AS 115
.Ind AS 103
.Ind AS 21
1) 1

) 2

B R B




3) 3
(4) 4

fafdRId ¥ ¥ SIF-91 US Ind-As <[4zl [dFHg <=1 H g4 drel uRkad=l & uHah 9 gaid g 2

.Ind AS 19

.Ind AS 115
.Ind AS 103
.Ind AS 21

1) 1

) 2

(3) 3

(4) 4

N

1[Option ID=32917] Question Description : commerce_commerce_set 1_english_q5
2[Option ID=32918]
3[Option ID=32919]
4[Option ID=32920]

Sl. No.6
QBID:18006

Policy of 'Playing Safe' followed by the accountant is based on which one of the following concepts?

. Dual Aspect Concept

. Conservation Conventions

. Money Measurement Concept
. Realization Concept

(1) 1

(2) 2

(3) 3

4) 4

AGIHRI GRT TR “GRIE I S I 799 T U Y U S{TRUN TR 1R 8 2

1. GIEx U8 P TR
2. Fiedrel uRarfear
3. gEI-H19eh SaeRT
4. UG (RUATZSIZA) 3RO
1) 1
2) 2
3) 3
(4) 4

B R

1[Option ID=32921] Question Description : commerce_commerce_set 1_english_q6
2[Option ID=32922]
3[Option ID=32923]
4[Option ID=32924]

Sl. No.7
QBID:18007

X and Y are partners in a firm sharing profits in the ratio 4:5. X surrenders 1/4 of his share and Y surrenders 1/5 of his share
in favour of Z, the new partner. What will be the new profit sharing ratio of the firm's partners?

4) 4
X 3R Y U BH H UIEIER § 3R 4:5 3FU H d1Y dicd B | X 310 388 &1 1/4 581 3R v 310 gt &1 1/5 fowan
JUAEER z & Y& 1 BIS &d § | BH & FISIER| &I 7191 A1 [aHISH SJurd &1 g 2

s et el
55:44:81

LUV R o




3) 3
4) 4

1[Option ID=32925] Question Description : commerce_commerce_set 1_english_q7
2[Option ID=32926]
3[Option ID=32927]
4[Option ID=32928]

Sl. No.8
QBID:18008

Net profit after taxes of a firm is Rs.1,00,000 and its fixed interest charges on long term debt are Rs.20,000. What is the
interest coverage ratio if the rate of income tax is 60% ?

. 13 times

. 13.5 times

. 12.5 times

. 5 times

(1) 1

(2) 2

(3) 3

(4) 4

a3 DR & d1G U Y DI Y 1Y F. 1.00,000/- § 3R 2HP drdebifeidr BN IR FRR &A1 YR = 20,000/~ 8 |
e HYDHR Pl & 60% ¢ ol SATS JHTBliad U R g 2

3T
BERRIC
1257
ST
(1) 1

() 2

@) 3

) 4

e S

B

1[Option ID=32929] Question Description : commerce_commerce_set 1_english_q8
2[Option ID=32930]
3[Option ID=32931]
4[Option ID=32932]

Sl. No.9
QBID:18009

The study of unemployment is the subject matter of which one of the following Economics?

. Descriptive Economics
. Normative Economics
. Micro Economics

. Macro Economics

(1) 1

) 2

3) 3

(4) 4

SRISATR &1 21eagH FafeiRad o 9 [y = & fauges g 2

1. GUHATHD IR
AFS 3R
. GEH SR

. ged U

1) 1

) 2

3) 3

(4) 4

B R
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1[Option ID=32933] Question Description : commerce_commerce_set 1_english_q9
2[Option ID=32934]
3[Option ID=32935]
4[Option ID=32936]

Sl. No.10
QBID:18010




Which one of the following commodities has the most inelastic demand?

1. Cigarette
2. Soap

3. Ice-cream
4, Salt

1) 1

(2) 2

(3) 3

(4) 4

Fafiad ¥ ¥ {6y 9% &1 9alidd dard 9 g

. g
E I ERSEAL

THD

B s

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=32937] Question Description : commerce_commerce_set 1_english_q10
2[Option ID=32938]

3[Option ID=32939]
4[Option ID=32940]

Sl. No.11
QBID:18011

'Sales Revenue Maximization' as an alternate objective of business firms was postulated by whom of the following?

. 0.E. Williamson
. Cyert and March
. W.I. Baumol

. K.W. Rothschild
(1) 1

(2) 2

3) 3

) 4

DRIAR] BH & dhicdd 3 & U F fah1 Ao ATUHTHBIOr BT AR ARG & § fhu- Ugd &1 i 2

B R

1[Option ID=32941] Question Description : commerce_commerce_set 1_english_q11
2[Option ID=32942]
3[Option ID=32943]
4[Option ID=32944]

Sl. No.12
QBID:18012

Which one of the following statements is correct regarding the slope and the point elasticity on all the points on a
rectangular hyperbola shaped demand curve of a product?

1. Slope remains the same while point elasticity goes on changing.
2. Slope goes on changing while point elasticity remains the same
3. Both slope and point elasticity remain the same
4. Both slope and point elasticity go on changing

1) 1

(2) 2

(3) 3

(4) 4




feh il G Bl HFABR-MTRAGAIBR A Ih & gl fegsil iR fdg did SR uaurdr & ddy o fHafafad § 9 19
I HYF Fel § 2

1. JUTdT 981 ¥gdl § Sididh (4G did URafdd gidi gl ¢ |
2. fofg < ag1 gl g Sidich Uqurdl uRafdd gl @i ¢ |
3. TAUrdI 4 fofg ik gH 9HH 8d ¢ |

4. YqUId1 d fdg &4 &iHi gRkafdd gid Igd § |

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32945] Question Description : commerce_commerce_set 1_english_q12
2[Option ID=32946]
3[Option ID=32947]
4[Option ID=32948]

Sl. No.13
QBID:18013

The current market price of a company's share is Rs.90 and the expected dividend per share next vear is Rs.4.50. If the
dividends are expected to grow at a constant rate of 8 per cent, the shareholders required rate of return is :

5%
8%
. 13%
. 20%
(1) 1
() 2
(3) 3
(4) 4

TS $UH & IR B gdHH S9R HIFT = 90 © 3R AT I 3(Ufed Ufd IR AU F 4.50 ¢ | TG AU P 8
T i FRR & U 3 g D1 311211 81, ol YIRYURSD] & oY 3quféfd oy &1 o2 99 o 9 a1 gt

N

L O

Y

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32949] Question Description : commerce_commerce_set 1_english_q13
2[Option ID=32950]

3[Option ID=32951]
4[Option ID=32952]

Sl. No.14
QBID:18014

The Kinked-shaped revenue curve of a firm relates to which one type of the market structure?

. Perfect Competition

. Oligopoly

. Monopoly

. Monopolistic Competition
1) 1

(2) 2

3) 3

4) 4

Ul UfaEH &l fhdh BRI 1 IS 9 FHifdd H U 6 UeR &1 dNR =91 9 Jdfed g2

1. g0f Uit

2. AMYBR

3. UBIUBR

4. USRI Ufqeas|

@) 1
) 2

B R




3) 3
(4) 4

1[Option ID=32953] Question Description : commerce_commerce_set 1_english_q14
2[Option ID=32954]
3[Option ID=32955]
4[Option ID=32956]

Sl. No.15
QBID:18015

"Value-additivity principle' implies in which one of the following methods of capital budgeting ?

. Pay back period method
. NPV method

. IRR method

. ARR method

1) 1

(2) 2

(3) 3

(4) 4

Uit aicionR0r o fafefad | 9 fod faft & -qeg armersdr faeia siafifga s 2

1. TFa=r g erafey fafy
NPV faf

.IRR faf¥

. ARR faf¥f

(1) 1
(2) 2
(3) 3
4) 4

e e
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1[Option ID=32957] Question Description : commerce_commerce_set 1_english_q15
2[Option ID=32958]
3[Option ID=32959]
4[Option ID=32960]

Sl. No.16
QBID:18016

The risk free rate is 6 per cent, the market risk premium is 9 per cent and the beta of share is 1.54, then what is cost of equity
]

.23%
. 19%
13%
. 20%
(1) 1
(2) 2
(3) 3
(4) 4

SEF 7FT & 6 IO §, TR FEA NFTH 9 wfowed § AR R &7 der 1.54 §, @ ol Fr aea
Trgar g ?

N

1.23%
2.19%
3.13%

20%

*

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32961] Question Description : commerce_commerce_set 1_english_q16
2[Option ID=32962]

3[Option ID=32963]
4[Option ID=32964]

Sl. No.17
QBID:18017




While averaging rates and ratios where time factor is variable and the act being performed is constant, which one of the
following measures of Central Tendency is appropriate?

1. Arithmetic average
2. Mode

3. Harmonic mean

4, Geometric mean
1) 1

(2) 2

(3) 3

(4) 4

&R 9 STl BT SHATHI B U, Sd GHY HRb =R g1 AR Fwaifed fobar o 3g1 e fRR g1, 1l =i ufd< &1
99 1 U &IH 91 719d 39gad § 2

. 9gdd

. EPRIHD 1Y
 TadE A1
(1) 1

(2) 2

(3) 3

(4) 4

R e

1[Option ID=32965] Question Description : commerce_commerce_set 1_english_q17
2[Option ID=32966]
3[Option ID=32967]
4[Option ID=32968]

Sl. No.18
QBID:18018

If two regression coefficients are 0.8 and 1.2, which one of the following is the value of coefficient of correlation?

.0.97
. 0.96
. 1.00
.0.80
1) 1
(2) 2
3) 3
(4) 4

e &l FHISRAV 0N 0.8 3R 1.2 8, 1 Tgua 0lid B 4 H § DI 91 g ghTl 2

.0.97
.0.96
. 1.00
.0.80
1)1
(2) 2
(3) 3
(4) 4

B B

e

1[Option ID=32969] Question Description : commerce_commerce_set 1_english_q18
2[Option ID=32970]
3[Option ID=32971]
4[Option ID=32972]

Sl. No.19
QBID:18019

Which one of the following statements is true ?

1. For a symmetrical distribution g, = 0

2. Kurtosis means 'lack of symmetry'.

3. B2 can be negative

4. Skewness studies the flatness or peakedness of the distribution
1 1
(2) 2
3) 3

(4) 4




FfRad # U &H 91 $34 Ul @2

1. FafR fqavor & fau g, =

2. debell HIEAT b1 31 § ~GAH BT 3{HTa” |

3. 8o BUIHD gl DI G |

4. AV Udh TacRUT & YU dT b I BT T Bl © |
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=32973] Question Description : commerce_commerce_set 1_english_q19
2[Option ID=32974]
3[Option ID=32975]
4[Option ID=32976]

Sl. No.20
QBID:18020

Which one of the following statements is incorrect?

. Algebraic sum of deviations taken from Arithmetic Mean is zero
. The sum of absolute deviations taken from Median is the largest

. Standard deviation is always less than range
. The sum of the squares of deviations of a given set of observations is minimum, when taken about the arithmetic mean.

B

11
(2) 2
(3) 3
(4) 4

fgfciRad § U &IH 91 &UH gl el o2

1. iy Aren € forw ¢ fage &1 diemiorda i g BT g |
2. ATfedeT Y o8 W FRUe faga! &1 9 vailied giar g |

3. A (a9 gAY Y HH AT ¢ |
4. SABIONITY ATl Y fo1U S W, Ueful & Yed Y9=d & {qdel, & 91 &1 i GAqH iar g |

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=32977] Question Description : commerce_commerce_set 1_english_q20
2[Option ID=32978]
3[Option ID=32979]
4[Option ID=32980]

Sl. No.21
QBID:18021

Which one of the following is referent source of power?

. Perception or belief that the manager has some special knowledge

. Manager's desire to identify with or imitate the subordinate

. Ability of the manager to reward the subordinate for obeying orders

. Ability of the manager to punish the subordinate for not obeying orders

B B

(1) 1
) 2
(3) 3
(4) 4

frafRad # 9 & fad &1 ggmd Jid g 2

1. 9 Y& a9 31yl fayr, fob e & g [ARu i ¢ |

2. SR & IY ATl R DR 314dl IHDT SIHR0N DR B et B BT |
3. SISV & SUTE gd Hef TR Bl Ypd B DI Ude[d 6] g |

4. J1ER & YT 7 B o [0 e B S5 B BT Udeidh b1 Ui |

1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=32981] Question Description : commerce_commerce_set 1_english_q21
2[Option ID=32982]
3[Option ID=32983]
4[Option ID=32984]

Sl. No.22
QBID:18022

Which one of the following is not an advantage of the line organization?

. It ensures excellent discipline

. It fixes responsibility for the performance of tasks
. It is suitable for big organizations

. It is not expensive

B R

1) 1
(2) 2
(3) 3
(4) 4

FATRad H ¥ @I 91 Udh X419 W69 &l Ay 9ol © 2

1. 9g GTH RN & GHEd g |

.U B W16 & ol IRaldd [Had H3dr g |
. Ug 93 W&l & ol UG ¢ |
AgHGM T8I § |

@ 2

3) 3

(4) 4
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1[Option ID=32985] Question Description : commerce_commerce_set 1_english_q22
2[Option ID=32986]
3[Option ID=32987]
4[Option ID=32988]

Sl. No.23
QBID:18023

A scale that measures a fair sample of the tasks and skills actually needed for the job in question is known as:

. Test validity

. Criterion validity
. Content validity

. Construct validity
1) 1

(2) 2

3) 3

(4) 4

Wl%{ﬁl‘”ﬁﬁ?ﬁﬂ{cﬂ&ddﬁaﬂdwd) HTaT 3R HIC & Ifad Tfud &I ATGH arell AT+ & 9 H O fog =0 8 9
ST g 2

. TRi&gor fafemm=aar
.S S fafemm=gan
favgayg fafearad
. AT At

1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=32989] Question Description : commerce_commerce_set 1_english_q23
2[Option ID=32990]
3[Option ID=32991]
4[Option ID=32992]

Sl. No.24
QBID:18024

Training technique which teaches the importance of resolving matters is known as:

1. Built-in-Tension
2. Shadowing

3. Tag Teams

4. Mirroring




1) 1
(2) 2
(3) 3
(4) 4

HTHE! &1 GHITT H3- & Howd S AT & alell UI&0 dh-i® & A9 3 9 [ U H SH1 o1 g 2
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32993] Question Description : commerce_commerce_set 1_english_q24
2[Option ID=32994]

3[Option ID=32995]
4[Option ID=32996]

SlI. No.25
QBID:18025

When Central Bank conducts a sale of securities, the cash reserve of commercial banks shall:

1. Increase at slow rate
2. Decrease
3. Remain constant
4. Increase at fast rate
(1) 1
(2) 2
3) 3
(4) 4

S| haid dd YdY[ddl &1 &l Harierd HRdl ¢, dl aifvivdd sdbl b Adal AR -

1. ¥ et gfeg gt
> HHHl gl

T o gfg gl
1 1

@) 2

(3) 3

(4) 4
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1[Option ID=32997] Question Description : commerce_commerce_set 1_english_q25
2[Option ID=32998]
3[Option ID=32999]
4[Option ID=33000]

Sl. No.26
QBID:18026

'Average clause' in insurance is applicable for which one of the following cases?

. Double Insurance
. Re-1nsurance

. Over insurance

. Under insurance
1) 1

(2) 2

(3) 3

(4) 4

FafaRad & 9 &191 o 6y Ardd o Tas darel drgidig 2
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A

@) 1

B R

[V S o]

4=




(2) 2

3) 3

(4) 4

1[Option ID=33001] Question Description : commerce_commerce_set 1_english_q26
2[Option ID=33002]

3[Option ID=33003]
4[Option ID=33004]

Sl. No.27
QBID:18027

ABC Ventures is private equity investor considering investing 21000 million in the equity of XYZ ltd. ABC Ventures
requires a return of 30% on investment with planned holding period of 5 years. The likely debt of XYZ ltd. will be 21000
million and cash balance of Z300 million with a projected EBITDA of 21500 million for the year 5. The desired ownership
share of ABC Ventures in XYZ ltd., given FVF 39 5= 3.713, will be

1.37.13%
. 30.00%
. 37.90%
. 7.13%
1) 1
(2) 2
3) 3
(4) 4

ABC 394 U& -6l 3fdd] Mdwddl g a8 xvyz [Wffes of 3iddl H 1000 A 9T A2 &1 IR [daR BRI ¢ |
ABC STH DI 5 a4 B I YIRar 2afe & [Ha=1 iR 30% Uldar (Re) & aadhdl g | Xyz [d. &1 duiiad o1
1000 fAfETE FUU BRI 3R 300 MR YT &1 Adbe STHIRIN g o9 Uiad 9y & falu 1500 Al 4T &1 uaiftd
(3JHIH) Tfdest g

Xz fifHes # ABC I9H &1 difsd WA BT AR 10 DY, 61 FVFq 305 = 3.713

[N )

=

.37.13%
. 30.00%
. 37.90%
.7.13%
(1) 1
) 2
3) 3
(4) 4

R e A

1[Option ID=33005] Question Description : commerce_commerce_set 1_english_q27
2[Option ID=33006]
3[Option ID=33007]
4[Option ID=33008]

Sl. No.28
QBID:18028

One of the assumptions in Black-Scholes option pricing model is that underlying asset prices are-

1. Equi-distributed
2. Marginally distributed
3. log-normally distributed
4. Normally distributed

1 1

(2) 2

3) 3

4) 4

&P el [dded oo Alsd @1 U Jd HI-0d1 I8 ¢ & sidfifed auuil 4 8id &--

. gA-fqafd
 fqarag: faafva
 AN-gEd: fadiRd
. qEG: fodid

1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=33009] Question Description : commerce_commerce_set 1_english_q28
2[Option ID=33010]




3[Option ID=33011]
4[Option ID=33012]

Sl. No.29
QBID:18029

In which one of the following service products, price sensitivity of the customers is low?

. Car rentals

. Transport

. Medical services
. Retailing

B R O A

1) 1
(2) 2
(3) 3
(4) 4

ey Tar Sarel # ¥ {6y Ya1 Idie gq SuHidie &l Jed 3¥de-iedl == gidl g 2

G
fafee gan
. G AR
1) 1

(2) 2

@3) 3
(4) 4
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1[Option ID=33013] Question Description : commerce_commerce_set 1_english_q29
2[Option ID=33014]
3[Option ID=33015]
4[Option ID=33016]

Sl. No.30
QBID:18030

Which one of the following is true while segmenting consumer markets on demographic basis?

. Low predictability of consumer choice behaviour and high cost of measurement
. Low predictability of consumer choice behaviour and low cost of measurement

. High predictability of consumer choice behaviour and low cost of measurement
. High predictability of consumer choice behaviour and high cost of measurement

B R

1) 1
(2) 2
(3) 3
(4) 4

SHIfH® T ATYR IR STHT aeR! & fGHfadsmo & dey | Fafafad § -1 9gi g 2

. SUHIET 90 AdgR S % GaigATdT 3R AT &1 3= arTd
. SUYIKT =91 R B 99 qaiqH1d1 3R 1194 1 7149 arTd
. SUHIHTT 98- HGER &I Iod YA 3R A0 Bl -4 AT
. U] 989 HdgR B 3= JaiATHT 3R H199 &1 3= drTd

(1) 1
) 2
(3) 3
(4) 4
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1[Option ID=33017] Question Description : commerce_commerce_set 1_english_q30
2[Option ID=33018]
3[Option ID=33019]
4[Option ID=33020]

Sl. No.31
QBID:18031

Which one of the following is not a market oriented definition of a business?

. We run a railroad

. We help improve office productivity
. We supply energy

. We distribute information

1 1

(2) 2

B R B




3) 3
(4) 4

FHfeRad & 9 &H-91 PRIOR &I d6R g gRUN g1 g 2

B U YUl BT HAeH PR G |
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1) 1

2) 2

(3) 3

(4) 4

B

1[Option ID=33021] Question Description : commerce_commerce_set 1_english_q31
2[Option ID=33022]
3[Option ID=33023]
4[Option ID=33024]

Sl. No.32
QBID:18032

In which one of the following concepts, a buyer is passively involved in an exchange transaction and he accepts whatever is
offered to him by a marketer?

. Production concept
. Product concept

. Selling concept

. Marketing concept
) 1

(2) 2

3) 3

4) 4

FafaRad Iehea13il # O fY, Yol H, U ohal - Fitsd &u I fafiag YegagR # g/ ferd gidl ¢ 3R SR | 34
il P YEITAd (b1 Sl 5, 98 WIHR HAl g 2

. 3dIed DI AYRUT
. 3dIE DI 3IYRO

. fdhT B @R

. fAUUE &1 3@yrRom
(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=33025] Question Description : commerce_commerce_set 1_english_q32
2[Option ID=33026]
3[Option ID=33027]
4[Option ID=33028]

Sl. No.33
QBID:18033

If invoice discounting is not confidential in nature, the custom ers of the client are advised to make payment directly to the
factor. This facility, when offered with a non-recourse, is known as-

. Agency Factoring

. Protected invoice discounting
. Full factoring

. Odd line factoring

1) 1

(2) 2

3) 3

(4) 4

N
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gfauT ofq TR-ATY fa=ivar & 91y <l Sl g dl 38 S 91l 6:
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4. fawA Tt aedin

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33029] Question Description : commerce_commerce_set 1_english_q33
2[Option ID=33030]

3[Option ID=33031]
4[Option ID=33032]

Sl. No.34
QBID:18034

The practice of forging a return address on an e-mail so that the recipient is fooled into revealing private information is
termed as:

. Hacking

. Cracking

. Dumpstordiving
. Spoofing

N

1) 1
() 2
(3) 3
(4) 4

éﬂﬁﬂﬁﬁgﬁﬂﬁ?ﬂwﬁaﬂﬁ PR [Toll Y1 B Udhe B od UKl B SgdTdl oidl ¢, 39 B HGER DI
gl Sldl g :

1. ST/ 8 Bl
2. Y3IBIS Al
3. I SIS AT
4. FT ST

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33033] Question Description : commerce_commerce_set 1_english_q34
2[Option ID=33034]
3[Option ID=33035]
4[Option ID=33036]

Sl. No.35
QBID:18035

If any one fraudulently or dishonestly makes use of the electronic signature, password or any other unique identification
feature of any other person then under which section of IT Act 2000, punishment shall be given?

. Section 63

. Section 66B

. Section 66C

. Section 67B

1) 1

() 2

3) 3

(4) 4

gie dis gadcliHd SIER - Uds 41 fddl gOR Aidd &1 Ugdi- Yaith 0w fa=Ivd &1 Taiv dHRd SIIergrsil ddl

-~

© ol 3 Y1 Wit 31 2000 &1 69 4R & Sidiid Sfgd fdar s »

.URT 63

.URT66 B
CHURT66 C
.URT67 B

N

[ S O




(1) 1

(2) 2

3) 3

4) 4

1[Option ID=33037] Question Description : commerce_commerce_set 1_english_q35
2[Option ID=33038]

3[Option ID=33039]
4[Option ID=33040]

Sl. No.36
QBID:18036

From Dec. 1, 2022 which body handles all complaints related to Profiteering under Goods and Services Tax (GST) ?

. National Anti-Profiteering Authority (NAA)
. Niti-Aayog

. Competition Commission of India (CCI)

. GST Council

(1) 1

(2) 2

3) 3

) 4

FAfaRad o B1H-91 FohE U G 2022 Y AT (9%]) 3R Y16 (STTHE) & S=I1d ATy U Fefed guil
RISl BT HUCRI HRATE 2

TS Ufd-31gery= Uifeeor (U4U0)
fifa ama

. YRO™ Ufaegyf ST (@i tens)

. SlTydt uivee

1) 1
) 2
(3) 3
(4) 4

B R B

B s

1[Option ID=33041] Question Description : commerce_commerce_set 1_english_q36
2[Option ID=33042]
3[Option ID=33043]
4[Option ID=33044]

Sl. No.37
QBID:18037

Section 80 GGC of Income Tax Act is related with which one of the following ?

1. Deduction in respect of contribution given by any company to political parties
2. Deduction in respect of contribution given by any person to political parties
3. Deduction in respect of rent paid
4. Deduction in respect of certain donation for scientific research
(1) 1
(2) 2
(3) 3
4) 4

D ATTH DT YR 806G BT T= AP A fGITH T g 2

S aell Bl [l ST gRT QU 7T & & Fad # ol
e <l ol bl eafdd gRT AU g 5 & daH H ol
BT & YrraH & ey d Ferdt

. RIS 38y & g feg e fd o & Jed d I

1) 1
(2) 2
(3) 3
(4) 4

[

1[Option ID=33045] Question Description : commerce_commerce_set 1_english_q37
2[Option ID=33046]
3[Option ID=33047]
4[Option ID=33048]

Sl. No.38
QBID:18038




Which one of the following is not correct for Tonnage Tax System?

. It is a scheme of presumptive taxation

. It is applicable for the taxation of income derived from shipping activities
. It is applicable for both Indian as well as foreign companies

. Computation of tonnage income is covered U/S 115 VG

T O B

1) 1
(2) 2
3) 3
(4) 4

TH-HR ¢ AT & ol FgfaRad § O &9 U 9 gl g 2

. g U Udbield BRI I Ao g |

. Ig ARdgH Tiafaiaal 9 U 31 R eIy & e uga g |
.8 YR SR fq&2h, <l g, $ial IR Wgdd ¢ |
TA-YR A B UFETU/S 115 VG & 3=iid Bl SIdi g |
1) 1

(2) 2

(3) 3

4) 4

B

1[Option ID=33049] Question Description : commerce_commerce_set 1_english_q38
2[Option ID=33050]
3[Option ID=33051]
4[Option ID=33052]

Sl. No.39
QBID:18039

Tax on declared dividend is paid by whom?

. Shareholders

. Manager

. Receiver of the dividend
. Company

B R B

1) 1
(2) 2
(3) 3
4) 4

T ST TR B BT YT HIF HRA1 6 2
URYRSD

1
2. Ud¥dh
3. STYIRI BT UTddhd|
4, B!
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=33053] Question Description : commerce_commerce_set 1_english_q39

2[Option ID=33054]
3[Option ID=33055]
4[Option ID=33056]

Sl. No.40
QBID:18040

Which one of the following is not related to Income Tax in India?

. Taxpayer Identification Number (TIN)

. Dearness Allowance (DA)

. Leave Travel Allowance (L.T.A)

. Tax Deduction and Collection Account Number (TAN)
1) 1

(2) 2

(3) 3

(4) 4

B R




FEfaRad § 9 $H U YR H MHR I ST g g 2

1. B UGIdl ggd YT (TIN)
2. HGS YAl (D.A.)
3. 3{GDHIY-AE Hl (L.T.A.)
4. B Heldl AR YUVl WIdl BT (TAN)
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=33057] Question Description : commerce_commerce_set 1_english_q40
2[Option ID=33058]
3[Option ID=33059]
4[Option ID=33060]

Sl. No.41
QBID:18041

After COVID-19, which of the following are the upskilling enablers for women in India?

A. Introduction of electric vehicles

B. Flexible work opportunities

C. Work from home

D. Need to stay relevant, especially in technology
E. Willingness to return to work.

Choose the most appropriate answer from the options given below:

1. Aand B only

. C and D only
.C.D and E only
.B, C.,Dand E only
1) 1

(2) 2

3) 3

(4) 4

HIfdS-19 & dIg YRA & Higars & feu FHfaRad § 9 -4 $IRd I90-/4Ha8- Tdrdd ¢ 2

A. fasgd argl &1 udw

B. B & qWR H T

C. RY B B

D. RIS & &3 H [dR¥aR URiRTS T B adhd]
E. & & U aradl 381

i feu T fadedl & U gl 3R &I 98- BifoTy -

|. $ITA&B
2. HIAC&D
3. HAAC. D, &E
4. $ddB,C,D&E
(1) 1
@) 2
3) 3
4) 4

[N O]

I

1[Option ID=33061] Question Description : commerce_commerce_set 1_english_q41
2[Option ID=33062]
3[Option ID=33063]
4[Option ID=33064]

Sl. No.42
QBID:18042




E-commerce and large retailers in India bet big on mega consumption events on which of the following days?

A. Republic Day

B. Independence Day
C. Black Friday

D. Cyber Monday

E. Akshya Tritiya

Choose the most appropriate answer from the options given below:

. Aand B only

. C and D only

. A BandE only
A,B,C,Dand E
(1) 1

(2) 2

3) 3

(4) 4

YRA H FfciRad o - Tg1 SUHTH &R a1 feadl o S-S 3R Wl IR &I Th oD TR U1t gial g 2

A T0dA faag
B. WdAd1 fgay
C. DT ABHAR
D. UER ds
E. 31&/ qdmn

i fau U faseu! § O Ul 3k &1 99+ Difor :

. HIT A, &B

. $hdd C, & D
HITA.B&E
.$AdA,B,C.D&E
1 1

(2) 2

(3) 3

(4) 4

B O R

S R R

1[Option ID=33065] Question Description : commerce_commerce_set 1_english_q42
2[Option ID=33066]
3[Option ID=33067]
4[Option ID=33068]

Sl. No.43
QBID:18043

Which of the following are not assumptions of Marginal Costing?

A. The total cost can be segregated into fixed and variable components.
B. Fixed costs per unit of production remains constant

C. Variable cost remains constant per unit of output

D. The selling price per unit remains unchanged.

E. Variable cost is variable per unit.

Choose the correct answer from the options given below:

. Aand B only
.Band E only
.Cand D only
.Band C only
1) 1
(2) 2
3) 3
(4) 4

B R B




fafeRad O &= St darTd YR &1 gdyRom Hgl ¢ |

A. & ARTd &l (49d AT 3R URadf arTd | diel ST 9dbdl g |
B. 3MIGH ®1 Uld 3dTs -1ad drTd FRRR Igdl g |

C. 3G Pl Ufd gl URdd! arTd RRIEA ¢ |

D. Ufd 3PS [dhd g7 SURafdd W1 g |

E. Uid Sl URdd! arTd URad! gdl g |

i 3T U f[dhedl H T Ug! SR &1 98 BIfold :

|. HITA&B
). HAAB & E
3. $dd C & D
4. HAAB & C

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=33069] Question Description : commerce_commerce_set 1_english_q43
2[Option ID=33070]
3[Option ID=33071]
4[Option ID=33072]

Sl. No.44
QBID:18044

Which of the following transactions are related to Financing Activities?

A. Share issued for cash

B. Dividend distributed to shareholders
C. Sale of machinery

D. Redemption of debentures

E. Provision for depreciation.

Choose the correct answer from the options given below:

. Aand E only

. Aand C only

. A, B and D only
.A. B, CandD only
1) 1

(2) 2

(3) 3

(4) 4

fgieRad § ¥ o9 U YagagR [ iafafea 9 g g »

A. PG & fell YR BT AT
B. IRYRG| &l ATHIR &I [l
C. 7L 1 fast

D. &9 &1 Hle

E. Jed-319 &1 UIge™

i fau e fasweu! § 9 Ul 3R &1 99+ Difor :

|. $ITA&B
2. HIAA&C
3. HATA B&D
4. $Ad A, B,C &D
(1) 1
@) 2
(3) 3
(4) 4

B R

1[Option ID=33073] Question Description : commerce_commerce_set 1_english_q44
2[Option ID=33074]




3[Option ID=33075]
4[Option ID=33076]

Sl. No.45
QBID:18045

Which of the following statements are correct?

A. A monopolist can charge any price to maximize profits.

B. The slope of monopoly's MR curve is twice that of AR curve.

C. A necessary condition for monopoly's long-run equilibrium is AC = AR=MC=MR
D. A monopolist is in equilibrium where MC=MR

E. Equilibrium price of a monopolist is always higher than that of a competitive firm.

Choose the correct answer from the options given below:

. A, Band C only
.B. C and D only
.B. D and E only
.C.D and E only
(1) 1
(2) 2
3) 3
4) 4

T A I DT I DY HeI g 2

A. THIUGRI A1Y DI DT B & [ Dis U ST 99 Ghdi g |

B. USIYHR] & MR deb &I YdUT AR dch & YU Y SRHIBIAI G |

C. TH USRI & Srafafe] Ude- &1 U Ha=ad WUd g AC=AR=MC=MR

D. UHIUHRI Yo H BT ¢ 4 MC = MR @ |

E. UHIUBR] &1 Yded SIad gan g1 ufaegsf oo & Siad ¥ 24U gidi T |

" fau U fasmeul ¥ 9 Uel 3k &1 99+ Diforu :

1.%dd A, B, C,
2. $4ad B, C. D
3. $AdB. D, E
4. $AdC, D, E

1)1
(2) 2
(3) 3
(4) 4

B O R

1[Option ID=33077] Question Description : commerce_commerce_set 1_english_q45
2[Option ID=33078]
3[Option ID=33079]
4[Option ID=33080]

Sl. No.46
QBID:18046

Which of the following factors hinder the formation and sustainability of Cartels ?

A. Less number of firms in the industry

B. Presence of differentiated products

C. Different cost structures

D. Low frequency sales coupled with huge amounts of output.
E. Absence of monopolies and restrictive trade practices.

Choose the most appropriate answer from the options given below:

.B. C and D only
. A, D and E only
.C,D and E only
. B, C and E only
1) 1
(2 2
(3) 3
(4) 4

B N




JAGH i & g9 3R 3D YR B (9 H Y ®H Y SRS d1l9d Hd g 2

A, FI H A DI HH AT

B. f[auicd SdmEl &1 ufufd

c. 19 anTd ST

D. 7id &1 [a=11el 911 & 1Y faep! i 414 g

E. USRI 3R Uldeed ATIReS 2agR| &1 Ui

i fau TTu fassedl § O Ul 3wk &1 99+ Diforu ;

1.$dd B, C IR D
2. Had A, D 3IRE
3. $dd C, D, 3R E
4. $ad B, C AR E

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=33081] Question Description : commerce_commerce_set 1_english_q46
2[Option ID=33082]

3[Option ID=33083]
4[Option ID=33084]

Sl. No.47
QBID:18047

Which of the following factors determine the requirements of working capital of a firm?

A. Nature of Business

B. Technology and Manufacturing Policy
C. Management Skills

D. Credit Policy

E. Market and Demand Conditions.

Choose the correct answer from the options given below:

. A, B, Cand D only
. A B, D, and E only
.C.D and E only

. A, BandE only

(1) 1

2) 2

3) 3

(4) 4

{4l wH B BriRid Yol B Ara@h I3 & 99§ T $H 9 SR [HefiRd aed g 2

A. DRIIR &I UPfd

B. W1 3R fafmior Fifd
C. US4 B

D. B0 Hifd

E. SNIR 3R 1 fyfaa

=1 faU U [ddhed! # T Ug! TR &1 98 Hiford -

1. $IAA.B,C.D
2. hdd A, B, D, E
3. $dd C. D, E
4. BT A, B, E

1) 1

) 2

(3) 3

4) 4

B O R

1[Option ID=33085] Question Description : commerce_commerce_set 1_english_q47
2[Option ID=33086]




3[Option ID=33087]
4[Option ID=33088]

Sl. No.48
QBID:18048

Which of the following are related to primary capital market ?

A.TPO

B. Long Term Loans

C. Venture Capital

D. Letters of Credit

E. Participation Certificates

Choose the most appropriate answer from the options given below:

. A, BandE only
.C.D and E only
. A, Band C only
. A, D and E only
(1) 1
(2) 2
3) 3
4) 4

fafaRad o 9 SH-HH WUl Ul 9oR 3 Wt § 2

A 3fzataen

B. draiafy Hor

C. JEH st

D. R TA

E. YeYIiiTdr uHmomg=

" fau U fasmeul ¥ 9 Uel 3k &1 99+ Diforu :

1. $dd A, B.E
2. HAd C, D, E
3. HAd A, B, C
4. $Ad A, D, E

1)1
(2) 2
(3) 3
(4) 4

B O R

1[Option ID=33089] Question Description : commerce_commerce_set 1_english_q48
2[Option ID=33090]
3[Option ID=33091]
4[Option ID=33092]

Sl. No.49
QBID:18049

Which among the following are the measures of Central Tendency or Measures of Location?

A. Mean

B. Range
C. Mode
D. Median
E. Variance

Choose the most appropriate answer from the options given below:

1. A, B, CandE only
2.C,D and E only
3. A, CandDonly
4. B, C and D only
1) 1
(2) 2
(3) 3
(4) 4




Fafdad o U $H w519 yghadl &1 019 a1 safufd S A g 2

A HIY]
B. UHR
. 9gd®d
D. HIfHT
E. fquRor

i fau TTu fassedl § O Ul 3wk &1 99+ Diforu ;

1. $ad A, B, C, E
2. $HaAd C, D, E
3. Bdd A, C,D
4. ®aAB,C.D

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=33093] Question Description : commerce_commerce_set 1_english_q49
2[Option ID=33094]

3[Option ID=33095]
4[Option ID=33096]

Sl. No.50
QBID:18050

In which of the following practical situations, Poisson Distribution can be used?

. Number of customers arriving at the super markets per hour.

. Number of typographical errors per page in a typed material

. Number of accidents taking place per day on a busy road.

. Dice throwing problems.

. Number of defective material say, blades. etc. in a packing manufactured by a good concern.

ns e il ve i 2

Choose the most appropriate answer from the options given below:

.B. D and E only

. A, B, C and E only
. A, C,Dand E only
. A, B, Cand D only
(1) 1

) 2

(3) 3

(4) 4

FfaRad # U -1 sagiie (yfadl § Uiy fadRur &1 Wi faar S 9adl g 2

A. g HIide ¥ uid € 31 dlel g &l T

B. TI2Y I H Ui g8 GEu1 (341 i AT

C. U I Y3 R Ufdfc gfed gee-sil o1 g

D. URY a1 Y= gHsmd

E. fordll 3=y A1 SIGd 3dhls gRI [aHTad Uit H (o1 &1, M) Srgol Wit &1 wem

=1 faU U [ddhed! # T Ug! TR &1 98 Hiford -

1. $9d B, D.E
2. BAdd A, B, C,E
3. $Hdd A, C, D, E
4. HAdA,B,C, D

1) 1

) 2

(3) 3

4) 4

B O R

1[Option ID=33097] Question Description : commerce_commerce_set 1_english_q50
2[Option ID=33098]




3[Option ID=33099]
4[Option ID=33100]

Sl. No.51
QBID:18051

Which of the following attributes are true in systems approach to performance appraisal?

A. Low degree of formality

B. Occasional appraisal frequency

C. Individual-oriented reward practices
D. Facilitative leadership practices

E. Problem solving as primary goal.

Choose the most appropriate answer from the options given below:

.A,Dand E only

. A, B and D only
.B. C and E only

. A, C.Dand E only
(1) 1

(2) 2

3) 3

(4) 4

sITe et & HaR SUNH H HAfaRad § Y DH-SH I TG U g 2

A. TR & Y Bife

B. J&I-$Hal Hcdidh IRERA]
C. Afad-3dl GRIHR HdgR
D. PR AJdHRI HAER

E. YHT YHYH U fHS o6g

" fau U fasmeul ¥ 9 Uel 3k &1 99+ Diforu :

1. $ad A, D, E
2. Had A, B, D
3. $4ad B, C. E
4.$dd A, C,D.E

1)1
(2) 2
(3) 3
(4) 4

B O R

1[Option ID=33101] Question Description : commerce_commerce_set 1_english_q51
2[Option ID=33102]
3[Option ID=33103]
4[Option ID=33104]

Sl. No.52
QBID:18052

Which of the following are the distinct features of the Principles of Management?

A. Flexibility

B. Universal application

C. Principles are absolute, not relative
D. Based on situation

E. Derived out of experience.

Choose the correct answer from the options given below:

. A, CandE only

. A, B and D only
.B,C.D and E only
.A.B.D andE only
1) 1

(2) 2

(3) 3

(4) 4

B R




fFrafeiad & 9 ®iH-$ M 9 Uded & Rgidl & gy dam g 2

i fau TTu fassedl § O Ul 3wk &1 99+ Diforu ;

1. $ad A, C,E
2. BAd A. B, D
3. $dd B, C,D,E
4. $ad A, B, D, E

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=33105] Question Description : commerce_commerce_set 1_english_q52
2[Option ID=33106]

3[Option ID=33107]
4[Option ID=33108]

Sl. No.53
QBID:18053

According to Henri Fayol, which of the following are the Principles of Management?

A. Discipline

B. Decentralization

C. Unity of Command
D. Equity

E. Instability of Tenure

Choose the correct answer from the options given below :

1. A, C,Donly
.A B, C,E only
. A, B, D only
.B. C,E only
(1) 1

2) 2

3) 3

(4) 4

o3l Bl & R, (afiRad o § yded & ®IH-dH I gl g2

A. SRINH
B. fdd i@

C. BHME DI Udhdl

D. THdI

E. PHAGE oI AR

= feu 77U fadedl # 1§ gl STR & 99 Bifeid :

1. H9d A, C.D
2. BAdd A, B, C,E
3. Hdd A, B, D
4. ®9dB, C.E

1) 1

) 2

(3) 3

4) 4

[N O]

4=

1[Option ID=33109] Question Description : commerce_commerce_set 1_english_q53
2[Option ID=33110]




3[Option ID=33111]
4[Option ID=33112]

Sl. No.54
QBID:18054

Which of the following are the functions of Reserve Bank of India?

A, Issue of Currency

B. Accepting Deposits

C. Banker of Government
D. Bankers Bank

E. Credit Control.

Choose the correct answer from the options given below:

.Band C only

. Aand D only

. A, B, Cand D only
.A,C,D, and E only
(1) 1

(2) 2

3) 3

4) 4

YR Reid dp & FafeRad A9 e A Ui € 2

A T AR ST
B. ST WIHR HIAT
C. IRPR BT dbT
D. SR BT db

E. U 8307

" fau U fasmeul ¥ 9 Uel 3k &1 99+ Diforu :

1. $ad B, C
2. HAd A, D
3. $%dd A.B,C,D
4.%dd A, C,D.E

11
(2) 2
3) 3
(4) 4

B O R

1[Option ID=33113] Question Description : commerce_commerce_set 1_english_q54
2[Option ID=33114]
3[Option ID=33115]
4[Option ID=33116]

Sl. No.55
QBID:18055

For ongoing maintenance of regulatory capital. which of the following risks were covered by Pillar-1 Minimum Capital
Requirement?

A. Credit Risk

B. Financial risk

C. Operation Risk
D. Market Risk

E. Reputational Risk

Choose the correct answer from the options given below:

. A, Band C only
. A, B and D only
. B, C and D only
A, C and D only
1) 1
(2) 2
3) 3
(4) 4

e




m@%aﬁmﬂ SAREN & o1l Uy T A Yol Sia2dahdl & gR1 -4 | &4 Il SiRkgl & gwferd

A. IRa S|

B. fa<iig wifan

C. UdTeH Sifad
D. 96IR SIEH

E. UfdBTdS SIRkgH

i feu U fasmetl § 9 Uel 3wk &1 99+ Diforu -

1. $Id A, B, C
2. Had A, B, D
3. HadB,C.D
4. HAA A, C.D

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=33117] Question Description : commerce_commerce_set 1_english_q55
2[Option ID=33118]
3[Option ID=33119]
4[Option ID=33120]

Sl. No.56
QBID:18056

Which of the following are the advantages of Mobile Banking?

A. Insecure

B. Fraud reduction

C. Time saving

D. Separate internet required
E. Increased efficiency.

Choose the most appropriate answer from the options given below:

.B. C and E only
. A, B and D only
.C.D and E only
.B. D and E only
(1) 1
(2) 2
(3) 3
4) 4

Alargd dfdbn & Faffad A g P YAy g 2

A. MR

B. e (W13) H &HHl

C. GHY Bl 9dd

D. 3T Y S3c I Al

E. R $edr § gfs
i fau U faseu! § O Ul 3k &1 99+ Difor :

1. $dd B, C. E
2. HAd A, B, D
3. $Hadd C, D, E
4. $ad B, D, E

1) 1
(2) 2
3) 3
(4) 4

B O R




1[Option ID=33121] Question Description : commerce_commerce_set 1_english_q56
2[Option ID=33122]
3[Option ID=33123]
4[Option ID=33124]

Sl. No.57
QBID:18057

Which of the following are to be determined to estimate current market demand?

A. Total Market potential
B. Area Market potential
C. Analyze past sales

D. Sales force's input

E. Market share

Choose the most appropriate answer from the options given below:

I. A, C and E only
2.B.D and E only
3. A, CandDonly
4. A, B and E only

1) 1

(2) 2

(3) 3

(4) 4

AT ISR 1T & Yaigar & ford Fafaiad o 9 fe-et (R fGar smarg 2

A. 9NR B S &

B. &7 & SI9IR B &I
C. Ud faeh] BT [a=eloor
D. a3 9 & IHBR]

E. doIR fgan
i fau e fasweu! § 9 Ul 3R &1 99+ Difor :

. $Ad A, C. E
. HAAA. D, E
. HAd A, C, D
.$dd A, B, E

1)1
(2) 2
(3) 3
(4) 4

B

1[Option ID=33125] Question Description : commerce_commerce_set 1_english_q57
2[Option ID=33126]
3[Option ID=33127]
4[Option ID=33128]

Sl. No.58
QBID:18058

Which of the following are social factors influencing consumer's behaviour?

A. Culture

B. Social class

C. Groups

D. Family

E. Roles and status

Choose the most appropriate answer from the options given below:

. A, D and E only
.B. C,D and E only
. C.D and E only
.Band C only

1) 1

(2) 2

3) 3

B B




(4) 4

fAgfciRad H U ®H-4 IUHIdd & AdgR &I UHIad &R dlcd GHIGId PRS ¢ 2

A Tia

B. UTHINIS @il

C. U

D. URAR

E. YH®TE 3R fyfd

i feu e fasseul § 9 Ul 3k &1 99+ Difom

. $dd A, D.E
2. $ad B, C. D, E
3. HAd C. D, E
4. HAA B, C

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=33129] Question Description : commerce_commerce_set 1_english_q58
2[Option ID=33130]
3[Option ID=33131]
4[Option ID=33132]

Sl. No.59
QBID:18059

Which of the following are true when an organization uses intensive distribution of its products?

A. Customers are moderate in number
B. Widespread market coverage

C. Customers are brand-conscious

D. Mass advertising

E. Pleasant shopping conditions.

Choose the most appropriate answer from the options given below:

1. B. D and E only
2. A, Band C only
3. B and D only
4. B, C and D only
1) 1
(2) 2
(3) 3
(4) 4

e T3 30+ IATG! BT 718 faaR01 &1 Suan ddr g, 9l FafaRed d d sR-a ugi g -

A. SUHIER &1 A T8 ¢ |

B. A% &4 U &R H =016 |
C. SUHIE 918 & Ufd IS gld & |
D. A9 fagiaq

E. gWq fquur g=my

i fau TTu faded! § 9 Ul 3R &1 99 Difofu ;

1. $dd B, D.E
2. HAA A, B, C
3. Had B. D
4. ®HAA B, C, D

@) 1

(2) 2

(3) 3

4) 4




1[Option ID=33133] Question Description : commerce_commerce_set 1_english_q59
2[Option ID=33134]
3[Option ID=33135]
4[Option ID=33136]

Sl. No.60
QBID:18060

As per RTI Act, 2005, which of the following are exempted from disclosure [U/S 8(1)] ?

A. Information, the disclosure of which cause a breach of privilege of Parliament or the State Legislature.

B. The monthly remuneration received by employee

C. Information received in confidence from foreign government

D. Information which relates to personal information the disclosure of which has no relationship to any public activity or

interest.
E. A statement of the categories of documents that are held by public authority or under its control.

Choose the correct answer from the options given below:

. A, B and E only
. A, C and D only
.C,D and E only
.B. C and D only
1) 1
(2) 2
3) 3
(4) 4

Y1 b HABR AHAFTH, 2005 & AR, FARIT H fHD] ThIhul [u/s 8(1)] Y FS U T 2

A. 3 YT DT U SIH0 fored T9e a1 3oy fae dsd & fa2uiieR o1 g4 gidre |

B. HHAR] gRI U AR TR S

C. Tac=i WHR U fayr ¥ Ut g=-1

D. 98 Y- Sl AfdeTd Yol ¥ Heifdd g 37R oy U Idhrul ¥ didh/ol- b 4l fgd &l dis Hee 71 8 |
E. 3 Uddl &1 410l &1 Hy- Sl "iduii-ieb UIieihRor & Uiy gl g1 3 e gl |

1 fau e fasmeu! § 9 Ul 3wk &1 99+ Difof :

1. $AdA. B, & C
2. HAAA, C&D
3.$Hdd C,D, & E
4. ®HddB,C &D

1) 1

() 2

(3) 3

4) 4

R S R

1[Option ID=33137] Question Description : commerce_commerce_set 1_english_q60
2[Option ID=33138]
3[Option ID=33139]
4[Option ID=33140]

SI. No.61
QBID:18061

An instrument is to be called Wegotiable' as per Negotiable Instruments Act, 1881, if it possesses which of the following
characteristies ?

A. Can be transferred infinitum

B. Having minimum lock-in period

C. Freely transferable

D. The holder cannot sue in his own name
E. Holder's title free from defects.

Choose the correct answer from the options given below:

I. A, C and E only
2. A, BandE only
3.B.D and E ounly
4. A, B, Cand E only




) 2
3) 3
(4) 4

TR Vel HTUTIH, 1881 & HTHR Pl Ucld dd hIF THT S Sid a8 FRfeRad S faRydrsii arer g 2

A. SR (SFhHEH) =0 § RIFIRA gl bl g |
B. g IdH URRder afafe

C. gl UbR ¥ SRl

D. YR 30 919 J G1¢ g1 Il Yol |

E. YR &l gheRI I Y G B B |

i fau U fasmeul § 9 Ul 3k &1 99+ Difofu

1.$dd A, C, 3RE
2. Had A, B, ARE
3. $HadB,D3ARE
4. %Hdd A, B, C 3R E

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=33141] Question Description : commerce_commerce_set 1_english_q61
2[Option ID=33142]
3[Option ID=33143]
4[Option ID=33144]

Sl. No.62
QBID:18062

Intellectual Capital of an enterprise includes its :

A. Processes

B. Designs

C. Relationships developed with its customers and suppliers
D. Internet domain names

E. Copyrights

Choose the correct answer from the options given below:

.A. B, CandD only
.B. C and E only
.C.D and E only
A, B,C.DandE
(1) 1

(2) 2

(3) 3

(4) 4

el 3o 3 iR o B 2 3 39 -

A, Ufdbar

B. U

C. Ul 3R Yfdddiai & g fabiid day
D. 3 - SET A1

E. BIURISC

i fau TTu fassedl § O Ul 3wk &1 99+ Diforu ;

1. $ad A, B, C 3R D
2. $Had B, C 3R E
3. $hdd C,D 3ARE
4. BT A, B,C.DIARE
) 1
() 2
3) 3

B R




(4) 4

1[Option ID=33145] Question Description : commerce_commerce_set 1_english_q62
2[Option ID=33146]
3[Option ID=33147]
4[Option ID=33148]

Sl. No.63
QBID:18063

Income received and accrued or arisen outside India from a business controlled in or a profession set up in India, is taxed in
the hands of which of the following ?

. Every citizen of India

. Domicile of India

. Ordinary Resident

. Non-Ordinarily Resident
. Non-Resident

Mo N W

Choose the correct answer from the options given below:

. Aand C only

. Aand B only

. C and D only
.C.D and E only
(1) 1

(2) 2

(3) 3

(4) 4

YR § 110 b4l U2 a1 YRd H ([AHd [Hd PRIGR gR1 YR & 916 U &1 T3 3R SHfold a1 3dd &l T3 31,
fafaRad | g fore &= arg givl -

A. YRd & Udd AFIRS & U
B. HRd & HaRril & feg

C. TR {ardl & feru

D. IR - Fard & fag

E. 2fHard & fau

i 3T U fqdhed! H T Ug! SR &1 98- Bl :

1. HIAA&C
). PATA&B
3. HAdC & D
4. BAAC,D&E

1 1

@) 2

(3) 3

4) 4

R S N

1[Option ID=33149] Question Description : commerce_commerce_set 1_english_q63
2[Option ID=33150]
3[Option ID=33151]
4[Option ID=33152]

Sl. No.64
QBID:18064

Which of the following are related to tax-evasion?

A. Claiming bogus expenses and losses
B. Hiding capital nature of profits

C. Showing sales transactions

D. Showing excess transactions

E. Showing real income and expenses.

Choose the correct answer from the options given below:

. Aand B only
. A, B and D only
. A, Band C only
.C and E only

B O R




1) 1
(2) 2
(3) 3
(4) 4

fgfaRad § U fhud Ta= ar-aRi U g 2

A. STl g4l 3R g1 &1 &1al &A1
B. ol Upfc & arHil &l gur

c. foeh! YAdgR fa@r

D. 3HRHYU YHagR e

E. IrKdfdd 310 3R Y fe@mr

i fau U faset! ¥ 9 Uel 3k &1 99+ Diforu :

. PAdA & B
2. HddA.B &D
3. PATA.B& C
4. $AAC & E

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=33153] Question Description : commerce_commerce_set 1_english_q64
2[Option ID=33154]

3[Option ID=33155]
4[Option ID=33156]

Sl. No.65
QBID:18065

Which of the following conditions should be fulfilled by an Assessee to avail deduction u/s. 91 of Income Tax Act, 19617

A. The Assessee is a tax resident in India during the relevant previous vear

B. The income accrues or arises to him/her outside India

C. There is an agreement for relief from double taxation between India and the other country when the income has accrued
or arisen.

D. The Assessee has paid tax on his/her foreign income in the foreign country

E. India does not have any agreement for relief from double taxation with the country.

Choose the most appropriate answer from the options given below:

. Aand E only
.Band C only

. A, B, D and E only
. A, BandE only
(1) 1

(2) 2

3) 3

(4) 4

SHR HYTTH 1961 BT URT91 & dgd Be UH o (o [l HR-FeiRd @ Fafdiad o ¥ o -3 2rd i3 H=-1 gl

N e

A. Y& 71 - 99 & HR-AIRG URd H U &1 - i 613 |

B. SUP! 3 URA & 91 AId AT 35a g2 o |

c. forg a= o o 31fSld U1 363 B3 ¢, 39 6 3R YR & did GlgY BRIYUM U A & Bl 39a=] g1 3l |
D. BR-FYIRTT F 3o fac=1 § g3 31 UR o= H g R &l YT o 161 gl |

E. YRd &1 39 S Y Gl AU YEd ad HI hIg ST 81 8 |

- feu 7T fowen! § 9 Ul 3R &1 98- Difor

|. HAAA&E
2. HIAB & C

3. $ddA,B,D&E

4. HITAB &E




(1) 1

(2) 2

3) 3

4) 4

1[Option ID=33157] Question Description : commerce_commerce_set 1_english_q65
2[Option ID=33158]

3[Option ID=33159]
4[Option ID=33160]

Sl. No.66
QBID:18066
Match List I with List 1T
LISTI LISTII
(COP27) (COP 27 Action Plan)
A Mitigation I.  |Promote climate know-how solutions
B. |Capitalize II. [Empowering all stakeholders to engage in climate action
C. |Technology III. |Phase down unabated coal power
D. |Capacity Building IV, |Creation of "loss and damage fund"

Choose the correct answer from the options given below:

1. A-II, B-III, C-IV, D-I
2. A-IV, B-II1, C-II, D-I
3. A-III, B-1IV, C-1, D-II
4. A-IV, B-III, C-I, D-II
1) 1
) 2
(3) 3
(4) 4

Tt 11 Gl 11 Y T By

I II
'\'ﬁﬁ?ﬂz? ?ﬂ&h‘lﬂzgmwﬂw
Hedlary | 1 | Siciar 9es GHIYHE &1 9614 ol
: Ay gadl @ | gl BaeR®! &1 Yol &3 ad. Sl
P B - e g
PIEIRED 111 | 31&{00] IIE Srall B IRUEG &0 1 $H BT
&Ea A |1V | BT SR &fd [ ®1 =191 ®e

fAgfeiRad [adedl ¥ 9 Yol IR &l 994 Bifolu -

1. A-II, B-III, C-TV, D-I
2. A-IV, B-III, C-II, D-I
3. A-IIL B-IV. C-1, D-II
4. A-IV, B-1II, C-1, D-II

(1) 1

(2) 2

(3) 3

(4) 4

Oln| @ (=

1[Option ID=33161] Question Description : commerce_commerce_set 1_english_q66
2[Option ID=33162]
3[Option ID=33163]
4[Option ID=33164]

Sl. No.67
QBID:18067




Match List I with List IT

LISTI LISTII
(Issue) (Description)
A | cotom I As§ers__ Liabilities and Equity balances exist at the end of the
period.
Classification II. | Transactions and events have been recorded i proper accounts
& | Sieerence e \Vhe’rher all assets and liabilities are reported in the appropriate
period
D. | Existence v Transactions recognized in l}_le_fma.nmal statements have
occurred and relate to the entity.

Choose the correct answer from the options given below:

. A-IL B-1, C-III, D-IV
. A-IV, B-IIT, C-I1, D-1
. A-L B-III, C-1I, D-IV
. A-III, B-II, C-IV, D-1
1) 1
(2) 2
(3) 3
(4) 4

ook cillli-grcipiai sy

B R N

| AR e 1l Feraor
. gfygafaar, gaam 3N swddr S 3af & 3eg
A. | T3 l. .
& IER &
Teaaprt AR geamst & 3fg e &
B. | geffaor 1. NV -
] Feft ofufoat iR caw sfog =g & o
G 11,
AT (3F) PN
crarfaayol # sfeaf@a Hegdgr 9fed g &
D. | sfeace W'Bﬂ'{ i % i

AT faoedl & ¥ TEr 39X &1 94 HITaIT

AL B-L C-IIL, D-IV
.A-IV, B-II, C-II, D-1
CA-L B0, C-ILL D-IV
. A-IIL B-I1L C-TIV, D-I
) 1
(2 2
(3) 3
4) 4

= o b =

1[Option ID=33165] Question Description : commerce_commerce_set 1_english_q67
2[Option ID=33166]
3[Option ID=33167]
4[Option ID=33168]

Sl. No.68
QBID:18068

Match List I with List IT

LISTI LISTII

A [Margin of Safety I [Profit x sales / PV Ratio

B. IBreak Even Point |11 ?;g:rence between total revenue and total variable
C. [PV Ratio 111 |Total Sales-Total Variable Cost / Total Sales

D. |Contribution IV [Equality between contribution and total fixed costs.

Choose the correct answer from the options given below:

1. A-I, B-II, C-IIL, D-IV
2. A-I, B-IV, C-III, D-IT
3. AL B-1, C-1I, D-IV
4. A-IV, B-1. C-1I, D-III




1) 1
(2) 2
(3) 3
(4) 4

Tt 11 T 11 Y T By

AT

T 11

A |RarETEE | L T x fept
PV UG
B. |dqeH TR fdg| 1. | de Iea d del @R TR & siid &1 3’
T 61 — P ok NI
C. |41t egud |1 o
D. | f7IgH 1V | 3f=IEH g e (R ARTd & aild GHMEdl

FEIRad [ddeul § ¥ Tl 3wk &1 994 B -

R o R

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=33169]
2[Option ID=33170]
3[Option ID=33171]
4[Option ID=33172]

. A-L B-1I, C-IIL, D-IV
.A-L B-IV, C-III, D-1I
. A-IIL B-1, C-IL D-IV
. A-IV, B-1. C-IL, D-III

Question Description : commerce_commerce_set 1_english_q68

Sl. No.69

QBID:18069
Match List I with List IT

LISTI

LISTII

A |Finance Lease

L

The lessee and the owner of the equipment are two different entities.

B. |Operating Lease

IL

[essee sells an asset for cash to a prospective lessor and then leases
back the same assets

C. |Sale and Lease back [IIL.

IThe lessor does not transfer all the risk and rewards incidental to the
lownership of the assets.

D. [Direct lease

V.

The lessor transfers substantially all the risks and rewards incidental

to the ownership of the assets to the lessee.

Choose the correct answer from the options given below:

B R

1) 1
(2) 2
(3) 3
(4) 4

. A-TV, B-1I1, C-I1, D-1
. A-IV, B-II, C-I, D-II
.A-L, B-II, C-III, D-IV
. A-L B-II, C-1IV, D-1II




el 1 T1Y i 11 BT e Pifore
Tl 1 T 1T

A |fad gzt L [USER R ISR &1 &I al (59 9ol g |
fep it TREURT 1 TP GRICI4T, UZTald] @l 9@6 aid el
B, T T | I et ool AT 2 R ST &
fasp! SR UzT| . | UETarT URIgaT & W1ia & T8 T sifad 3R
gl | REBR BEIidiRd ol PRl g |
2T UZaR &I UREURMAS & wW@itd & S5 g
R ORI B gwidRd oxdl & |

=1 fu U fadhed! | T el IR BT I8 Hiforu :

D. |y&ugl IV,

1. A-IV, B-IIT, C-II, D-1
2. A-IV, B-1II, C-1, D-II
3. A-L B-II, C-IIL, D-IV
4. A-I, B-II, C-IV, D-III
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=33173] Question Description : commerce_commerce_set 1_english_q69
2[Option ID=33174]

3[Option ID=33175]
4[Option ID=33176]

Sl. No.70
QBID:18070

Match List I with List IT

LISTI LISTIT
(Tvpe of Test) (Subject matter of the problem)

A [Kruskal-Wallis I Parametric test to compare means of more than two population

test eroups
B. |7 test ] Non-parametric test to compare means of more than two population

groups

C. |Anova test I [Non-parametric test to test the goodness of fit
D. |Chi-square test |IV.|Testing the difference between means of two sample groups.

Choose the correct answer from the options given below:

L. A-II. B-1IV, C-1, D-III
2. A-IL B-III, C-IV, D-1
3. AJIIL B-1, C-II, D-IV
4. A-1, B-11, C-1IL, D-IV
1) 1
(2 2
(3) 3
4 4
el 1 1Y Gl 11 BT e e
HA T IT
& TR T 3 ey
i &l ¥ iU SEed] GHg! & A1 Bl goH]

ol L
B |dzofym (o %ﬁmmﬁsﬁwﬁfﬁw
. qqgfgmmq 11| AT & U140 o foT0 STafeie Udiar

b TR - | [ a1 H0c Fel & Wl & 5 & Sl 31
e [t

i feu U fasmeul § O Uel 3wk &1 99+ DIfoTu :

. A-IL B-1IV, C-1, D-1II
- A-IL B-IL C-TV, D-I
. A-IIL B-1, C-I1, D-IV
. A-I B-II, C-III, D-IV

B e A




(1) 1

(2) 2

3) 3

4) 4

1[Option ID=33177] Question Description : commerce_commerce_set 1_english_q70
2[Option ID=33178]

3[Option ID=33179]
4[Option ID=33180]

Sl. No.71
QBID:18071

Match List I with List IT

List I Characteristic List IT Leadership Mode
A | Source of power I. | Power extension
B. | Concept of power II. | Empowerment
C. | Dominant need [11. | Bulding culture
D. | Managing style IV, | Multiplving

Choose the correct answer from the options given below :

. A-IL B-1V, C-1, D-ITI
. A-IV, B-I1, C-1, D-III
. A-IL, B-TV, C-III, D-1
. A-IL B-III, C-I, D-IV
11
(2) 2
(3) 3
4) 4

it 1 1Y Gl 11 T el Hifore

e

T 1 R T 11 79 TR
A |=ida w@ia 0 EIESAGISIE
B. | 2Iidd &I Sfqyrun i FRIGIH
C. | vaa smazg@mar . |[Jesfa fFmm
D. | gae 2t W EGE

A1 fu e faded! & I Il SR &1 99 Hifor ;

CA-IL B-TV, C-1, D-III
. A-IV, B-11, C-I. D-III
CA-IL B-1V, C-II1L, D-1
CA-IL B-1I0, C-1L D-1IV
1) 1
) 2
3) 3
(4) 4

N

1[Option ID=33181] Question Description : commerce_commerce_set 1_english_q71
2[Option ID=33182]
3[Option ID=33183]
4[Option ID=33184]

Sl. No.72
QBID:18072




Match List I with List IT

LISTI LISTII
(Application narratives) (Statistical distributions)
Time interval between successive arrival of o g
A : I. [Pareto distribution
customers in a queus
B. Theibulion of ncome. properly and cechin hnatn 11 [Poisson distribution
abilities in a capitalistic society
C Mox'em@t of stgck prices .and distributing of VIRl disibiition
income in a socialistic society
Distribution of rare events 1.e the probability of
D. |occurrence 1s very small but the number of trials are [IV.[Lognormal distribution
very large

Choose the correct answer from the options given below:

L. A-II, B-TV, C-II1, D-I
2. A-III, B-1, C-IV, D-II
3. A-L, B-IV., C-11, D-I1I
4. A-L, B-11, C-1II, D-IV

(1) 1

) 2

(3) 3

(4) 4

il 1 1Y Gl 11 BT HeH Bifore

AT ‘ |

SHTTANT ST
. mn‘wsmﬁw&wémw g T
g ﬁﬂ;ﬁﬁﬁ%ﬂﬂmﬁwﬁ?ﬁmw ) [ —
5 ﬁgﬁql@wwﬁmm@ﬁwmaﬁi N C—

=i U U fadet! | T el IR &1 I8 Hiforu :

CA-IL B-IV, C-IIT, D-1
AL B-1, C-IV, D-II
.A-L B-IV, C-II, D-III
. A-L. B-I1, C-IIL, D-IV
1) 1
(2) 2
(3) 3
(4) 4

B R e R

1[Option ID=33185] Question Description : commerce_commerce_set 1_english_q72
2[Option ID=33186]
3[Option ID=33187]
4[Option ID=33188]

Sl. No.73
QBID:18073




Match List I with List IT

-t 2 LISTII
(Sales Promotion (Goal)
Method)
Stock : o ]
A ) I |To incentivize customers to try a new product
allowances
B. Premiums II. |To incentivize stores to trv a new product
C. [Sampling III |To incentivize stores to keep selling a product
D. |Advertising IV |To incentivize customers to increase their consumption.

Choose the correct answer from the options given below:

CA-IL B-TIV, C-1, D-ITT
. A-IV, B-11, C-1, D-III
. A-II, B-IV, C-III, D-1
. A-IIL B-TV, C-I, D-1I
1) 1
(2) 2
(3) 3
(4) 4

it 1 1Y Gl 11 T e DI -

B O R

I II
B U G &5 URI&IUT & [oTE SUHTETS &l IS
A |TiE vd L |
G RI B Y IUIG P URIEU B (oY IR
B. |TiiftEy L aane

_ GEMIER] @I TP 3G adH1 - o] 1@+ o [od
S Lk Sl e s

. | STyiEnai @1 0=t @ud 95 @ [OY Iaid
D. |fagm= V. EXs

i feu e fasweul ¥ 9§ Hel 3tk &1 98- DifoT :

AL B-TV, C-1, D-TII
. A-TV, B-11, C-I, D-III
. A-IL B-TV, C-II1, D-1
AL B-IV, C-1, D-TI
1) 1
) 2
(3) 3
(4) 4

R N

1[Option ID=33189] Question Description : commerce_commerce_set 1_english_q73
2[Option ID=33190]
3[Option ID=33191]
4[Option ID=33192]

Sl. No.74
QBID:18074

Match List I with List IT

LISTI
(The sale of Goods Act, 1930) (sl‘lfcﬂnl;
(Condition)
A |Sale by Auction L |15
B. [Breach of Warranty I p7
C. |Sale by Description I 13
D. |Transfer of Title IV 64

Choose the correct answer from the options given below:

.A-TIV, B-1II, C-1, D-II
.A-IV, B-1. C-IIT, D-II
. A-IIT, B-TV, C-II, D-1
. A-IIL B-1, C-II, D-IV
(1) 1
(2) 2

R




3) 3
(4) 4

it 1 1Y Gl 11 BT el BT -

T TR I
ERlll URT
A |Fre gR1 a6l L[13
B. |greryT |27
C. |fqau gy famt |13
BPERI (W) BT i
D. IV |64

R S N

- A-IV, B-II, C-1, D-II
-A-IV, B-1, C-III, D-II
- A-IITL B-IV, C-I1, D-1
. A-IIL B-1, C-ITI, D-IV

11
(2) 2
3) 3
(4) 4

1[Option ID=33193]
2[Option ID=33194]
3[Option ID=33195]
4[Option ID=33196]

i fau U fasmeul § 9 Ul 3R &1 99+ Difor :

Question Description : commerce_commerce_set 1_english_q74

Sl. No.75
QBID:18075

Match List I with List IT

LISTI LISTII
Income Tax Return) (Relationship with)

For a company other than a company claiming exemption under

A ITR-2 L :
section 11

B. [ITR-6 11 [For presumptive business income covered w's 44 AD and 44 AE

c lmr7 I For a person (including a company who are required to furnish return

g ] Tu's 139 (4A) or 139 (4B) or 139 (4C) or 139 (4D)

D. [[TR-4 (Sugam) v For md}ndual and HUF not having income for business and

profession.

B R N

1)
(2)
(3)
(4)

. A-IV, B-1. C-II, D-I1I
. A-IV, B-1. C-IIT, D-II
- A-IITL B-1I, C-IV, D-1
- A-II, B-1, C-IV, D-III

1
2
3
4

Choose the correct answer from the options given below:




il 1 T1Y Yl 11 T fHeH Pifor -

T o i W

. | ¢ | PEEE 4RI 11 $ T&d @€ D1 31 B &, 37D AR Pl o
: - @l & feg

B. [ITR-6 11 | URT 44AD 3R 44 AE H IfcaiRad HIHI-d DRIER] 3 & [ad

U3 Ueh oAl (T b+U-1 Higd) b a1 IoTg HRT 139 (44) T 139 (4B) TM139
(4C) T 139 (4D) & T6d e s BT el & |

D. |1TR4 (@) |IV. %@meﬁawﬁmeaﬂémm T=IATd 31

A fau Tt fasweul § 9 Ul 3wk &1 99+ DIl ;

. A-IV, B-1, C-II, D-III
. A-IV, B-1, C-II1, D-TI
. A-IIL B-I1, C-1V, D-1
.A-IL B-1, C-IV, D-III
(1) 1
) 2
(3) 3
(4) 4

C. |ITR-7 118

R B

1[Option ID=33197] Question Description : commerce_commerce_set 1_english_q75
2[Option ID=33198]
3[Option ID=33199]
4[Option ID=33200]

Sl. No.76
QBID:18076

Sequence the following different settlement stages of the WTO dispute settlement System.

A. Retaliation

B. Implementation
C. Panel Review
D. Appellate

E. Consultations

Choose the correct answer from the options given below:

oMMy
MO D m
noop
w0
el vu v e)

P P

1) 1
(2) 2
(3) 3
(4) 4

fq% SR Y1164 (Ssey ¢1311) fadre e Yol & HafeRad fafis gares @Rol @] dadg IS |

A UfdBR

B. HAFTA

C. U THte
D. 3didl e
E. IRH

A1 4T U f[qdhed! H T Ug! SR &1 98- Blifold -




1[Option ID=33201] Question Description : commerce_commerce_set 1_english_q76
2[Option ID=33202]
3[Option ID=33203]
4[Option ID=33204]

Sl. No.77
QBID:18077

Arrange in proper sequence the following benefits available to Information System Auditor who uses CATT:

A. Check susceptibility to threat. Much of the accounting is done through cloud accounts or other online system.
B. Evaluating the system

C. Data security

D. Bolsters controls

E. Develop IT Governance

Choose the correct answer from the options given below:

I.LE.D.C.B. A
2.C,B,AD.E
3.ABCDHE
4.B,AE,C,D

1) 1

(2) 2

(3) 3

4) 4

fafaRad ardl &1 98t o | HafRd &2 Sl CATT YT &R drd - el & oy 3uas g:

A. @R & Ul SAfqdde=iad] | 3SR ol SR a3 s @id! Al 3 SA-drg-d dA Y gidl g |
B. A &I HAidh

C. STI-Ref

D. Rl &1 U8RI &1 B

E. 31321, =Y &1 fadrg

I feu T fasedl ® ¥ It STk &1 95 Hifeie :

1.LE,D,C,B,A
2.C,B,A,D,E
A BaCal B
4.B,AE,C,D
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=33205] Question Description : commerce_commerce_set 1_english_q77

2[Option ID=33206]
3[Option ID=33207]
4[Option ID=33208]

Sl. No.78
QBID:18078

Arrange the following steps in a proper sequence to forecast the demand for a product systematically and scientifically.

A. Making choice of method for demand forecasting
B. Estimation and interpretation of results

C. Specifying the objectives

D. Determining the time perspective

E. Collection of data and data adjustment.

Choose the correct answer from the options given below:

1.C,A.E.D,B
2.C,D,AE,B
3.JALC.D.B.E
4. E.D.C,A.B

(1) 1

) 2

3) 3

(4) 4




{4l Iaure & 1T & Gogdfeyd d dafii-ics U § Gaiqar T & Fyfeiad daal of U8l sof | S0aieyd il -

A. TR Yaiq4H gq fafe &1 =98 a1
B. URUTHI &1 Uddha- d ARl

. 354l Pl fafFezH

D. &Il GRS BT FHeRor

E. ST 498U g Sl YA SH

I 16U U fasedl H U UgT 3R &1 I99d BIfoTu -

1[Option ID=33209] Question Description : commerce_commerce_set 1_english_q78
2[Option ID=33210]
3[Option ID=33211]
4[Option ID=33212]

Sl. No.79
QBID:18079

Arrange the following steps involved in the budgeting in a proper sequence:

A. Screening the proposal

B. Evaluation of various proposals

C. Identification of Investment proposal
D. Performance review

E. Implementing the proposal.

Choose the correct answer from the options given below:

1.A,C,B,D.E
2.0 A HUE
3.C,AB,ED
4: 8B Gl E
1) 1
(2) 2
(3) 3
(4) 4

Uuil §oTc1chRur b1 Ulehar H 3idfdy fFafeiRad darl o Ugl hH H ogaiyd HIfe :

A. U B SHeH

B. Tafid wEdral &1 gedidA
c. T1d=1 U1 &1 UgdaH &Rl
D. BIA-feTeT gA_ter

E. U9 &1 fharag-

i fGu TTU faded! | U gl IR &1 98- Biforu :

1[Option ID=33213] Question Description : commerce_commerce_set 1_english_q79
2[Option ID=33214]
3[Option ID=33215]
4[Option ID=33216]




Sl. No.80
QBID:18080

Arrange the following steps involved in a research process to carry out orderly and systematic research:

A. Formulating hypothesis

B. Collection and analysis of data
C. Defining research problem

D. Prepare research design

E. Interpretation and report writing.

Choose the correct answer from the options given below:

L.DACEB
2048 DB E
3.A,B.C.D,E
4.C,B,AE,D

1) 1

2) 2

(3) 3

(4) 4

e d YoarRyd Q1Y & ferw 2y wihan § sidfiigd Fe darl &1 98l o1 1 oaiRyd SIS ;

A. UTdheq [A=00]

B. Scl HUgUl g fa=ciyu]

C. e YA ST GRHINT &A1
D. Y B TR HIAI

E. IRAT 9 Ufdded oha-

A fau U fasmeul § 9 Ul 3wk &1 99+ Difor :

1[Option ID=33217] Question Description : commerce_commerce_set 1_english_q80
2[Option ID=33218]
3[Option ID=33219]
4[Option ID=33220]

Sl. No.81
QBID:18081

Arrange the following examples of human needs in the hirearchy of their increasing importance.

A Insurance for accidents

B. Recognition and respect from others

C. Food and shelter provisions

D. Accomplishing distinction in chosen area by maximising potential.
E. Developing meaningful relations with others.

Choose the correct answer from the options given below :

1LLACE. B, D
2.C,A B, E,D
3JACE DB
4.C,AE,B,.D

(1) 1

(2) 2

(3) 3

(4) 4




Fa ¥

N adhdisi & 9 I&e0l &I 3-d Agd & dgd UGHHHIYR AR DI :

A. GHeA13] g o

B. QORI U AU 9 3{lax

C. e SR 3147 UIae

D. GHITIAT & e THIBRUT gRT TR & H fa=iy G UIed H1
E. QW1 & 1Y i el [da ¥d D1

< g T et 6 W) R T e IR :

C,E,B.D

]

B0 e
Ny

iy e
i m
W
OwQ

1[Option ID=33221] Question Description : commerce_commerce_set 1_english_q81
2[Option ID=33222]
3[Option ID=33223]
4[Option ID=33224]

Sl. No.82
QBID:18082

Arrange the following industry verticals in the ascending order of their weightages in the index of core industries in india.

A. Coal

B. Cement

C. Refinery Products
D. Electricity

E. Steel

Choose the correct answer from the options given below:

1A C,D.B,.E
2.E.B,D,A,C
3. BA B D.C
4.B,E.D,C.A

1) 1

(2) 2

(3) 3

(4) 4

FafeiRad e U & WRd ® Ug@ 31 & Yddid H 39d YRIG] & RIS HH § HafRyd S|

A. BT

B. UIH=

c. Rergai-3arg
D. faegd

E. &Id

i fGu TTU faded! | U gl IR &1 98- Biforu :

1[Option ID=33225] Question Description : commerce_commerce_set 1_english_q82
2[Option ID=33226]
3[Option ID=33227]
4[Option ID=33228]




Sl. No.83
QBID:18083

Arrange the following stages of buying decision process in the logical sequence.

A. Comprehension
B. Adoption

C. Need recognition
D. Legitimization
E. Attitude forming.

Choose the correct answer from the options given below:

LAC D E.B
20458 BDE
3.CCAE.D,B
4. C,E.D,A, B

1) 1

(2) 2

(3) 3

(4) 4

& [l ufcedr & fgfeiad @Rl &1 dbyid & H aafed SIfor |

A TRIH
B. 3TTH0T
C. A DHdl HI UgdH
D. a4
E. THIfgd fAafor
A1 fGU U f[qdhed! | T gl TR BT 98- BIfold ;

ACDEB

io¥eke
m 3 3
SR
>0
[vellve eyl

1[Option ID=33229] Question Description : commerce_commerce_set 1_english_q83
2[Option ID=33230]
3[Option ID=33231]
4[Option ID=33232]

Sl. No.84
QBID:18084

Arrange the Intellectual Capital Management Process Flow Stages in a proper sequential order :

A Index

B. Capture
C. Replicate
D. Identify
E. Store

Choose the correct answer from the options given below:




difs® Uolt UdeH Ufdhar Uarg @Rull &l hHdg HIfo :

A. JEHI® ()

B. 3T

. Ufddpfd

D. UgdH &l
E. 478

i fau TTu fassedl § O Ul 3wk &1 99+ Diforu ;

I.B,D.A,E,.C
2.B,.D,A,C.E
3: DB ACE €
4.D,A B EC

1) 1

) 2

3) 3

(4) 4

1[Option ID=33233]
2[Option ID=33234]
3[Option ID=33235]
4[Option ID=33236]

Question Description : commerce_commerce_set 1_english_q84

Sl. No.85
QBID:18085

Computation of income from house property for let-out house, the following items are deducted. Arrange them in a proper

sequence;

Cnwp

instalments)

. Local taxes/Municipal Taxes

. Standard deductions

. Unrealized Rent

. Interest on loan for the period the prior to previous year in which the house is completed (in five equal annual

E. Interest on loan taken for purchase, construction or repair of the house, relating to the previous year

Choose the correct answer from the options given below:

(4) 4

TR WR QU ¢ 7T W G dTell 31y &1 U1 o fofu Fafaiad gl &l Uer STdi g | 35 Ugl $hH H oFaikid & -

A. R B/ ATRUICIDT HR
B. A& $eliadl (X3 foad@H)

C. 3UTWT fbrmr

D. A &I 00 QR1 g dTel 71d 99 9 Jd B1 3ai¥l & B0 &1 7ol (Ui YA alitids fhdl H)
E. U1 &1 WRIg U101 J1 ARETd & Tl 7T P01 TR o415 Sl 7 a8 I Yeida g |

=1 faU U [ddhed! # T Ug! TR &1 98 Hiford -

1[Option ID=33237]

Question Description : commerce_commerce_set 1_english_q85




2[Option ID=33238]
3[Option ID=33239]
4[Option ID=33240]

Sl. No.86
QBID:18086

Given below are two statements:

Statement I : Monetary policy on its own cannot influence economic growth but can only support it by creating congenial
factors.

Statement IT: Monetary policy rates change get transmitted across the markets and eventually get reflected in lending rates,
mortgage rates and yields. Hence, monetary policy can address the current inflation.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

1) 1

) 2

3) 3

(4) 4

BIERA KR RTALR] I

DY 1 : TG Hifd T 30 310 D gig DI FUIAT 51 B Febdll § T DA BRI D [0 b Had
SUBT T D Yol § |

HYA 11 : Hifgd Hifd B &1 H uRad I6IRT § TR 8idl g 3R &1 UHTE BT &, S4H &1 9uT U 31 R TSdl
© | 31k, TG =i a0 Gl bl & Gaiied S Tl ¢ |

SRIK] B & 3P 4, Hid U MU [ddhei 4 999 I SR 1 999 DI :

L. HYFEINAR I Id g
2. HYF1 3R 1 G A g
3. PYA 1A G, AT HYT 1 3T §
4. BUYT1 3T G, A FUA 1 T ©
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=33241] Question Description : commerce_commerce_set 1_english_q86
2[Option ID=33242]
3[Option ID=33243]
4[Option ID=33244]

Sl. No.87
QBID:18087

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : When holding company holds more than 50% (but not whole) shares of a company, then the holders of the
rest of shares will be known as "Minority".

Reason R : Minority interest is calculated by considering proportionate shares and reserves of Holding Company.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A
. A is true but R is false

. A is false but R is true

(1) 1

(2) 2

3) 3

(4) 4

S S




A ST YA ST G : U SMUBYU (Assertion A) & U H [e¥d Tl GERT 3Ud HRUI (Reason R) & U H:
HIUDHYT A : Td D (44D I fbdl DI b 50% T STel AR (dldv TR g 7l 8. ol AW AGRA & YRDI Dl
SRS Dl ST |

HRUIR : RIS Sl & GHMUIAS AR 3R SARFE Ml & 3R W 3feqdi@id fgdl &1 70H1 &l Sl ¢ |

SR HYH & HTdid H, i 1GU MU [dbedl o I Ug1 IR D1 9894 DI -

AJRRGIITE 3R R A DI TG AR §

. A SRR GHI 9 g, i R, A DI Yol ARATg! &
AYAE, APIR oA

A3, dPIRTA T

(1) 1

(2) 2

(3) 3

(4) 4

S

1[Option ID=33245] Question Description : commerce_commerce_set 1_english_q87
2[Option ID=33246]
3[Option ID=33247]
4[Option ID=33248]

Sl. No.88
QBID:18088

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion-A: The theories of price determination under oligopoly are found to be inapplicable to real life market conditions.

Reason-R: Real life oligopoly market situation is characterized by small number of sellers, interdependence of decision
making, barriers to entry, indeterminate price and output; all leading to wide variety of situations.

In the light of the above statements, choose the most appropriate answer from the options given below

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A

. A is correct but R is not correct

. A is not correct but R is correct

1) 1

(2) 2

3) 3

(4) 4

#ﬁ[ﬁ%ﬂ‘r{éﬁzw% U fHHUA {Assertion A)%Wﬁﬁfﬁaﬂ%?ﬁmmW{Reason R) HEIH:
HYDHYT A : AHAMYDBR o S HId 4R & Rl IRafdd Siid &1 IR Rufaal 3 suged T Sarg |
HRUIR : ARAIAD Siia Bl eUUdR SoiR Uil &1 fafRpne § . fasdbdarsit &1 sidt e, Fvig o3 &1 3ia:
YR, gd= | 91418, YT H1Ed R Id1E; 34 Ydd dod A [afqed ardl fRiaai ST gl g |
QRIGd HYT & 2Tl H, I fGU T fdebetl # I G5l SR 61 98 DI -

LAIRREAIUI G SRR, AT UG AR ¢

A SRR G 9 g, dlB R, A DI Yol ARATg] ©
_AUgIg. dibdIR TEI Aol ©
LATEI ARG, AR TS ®

& 2

(3) 3

(4) 4

B R

B S I

1[Option ID=33249] Question Description : commerce_commerce_set 1_english_q88
2[Option ID=33250]
3[Option ID=33251]
4[Option ID=33252]

Sl. No.89
QBID:18089




Given below are two statements:

Statement I ; Translation exposure refers to the exchange gain or loss occurring from the difference in the exchange rate at
the beginning and the end of the accounting period.

Statement I1: Transaction exposure refers to the change in the value of the firm caused by the unexpected changes in the
exchange rate.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct
1
(2) 2
(3) 3
(4) 4
BIEAC IR AT I
DY 1 : 3AIG G (I UFUISR) 6l Hdbd ol 3fafel & SRY 3R 3fd d faf 99 & 9 3l & SR
areit fafa Uit 3ryar g1k &1 3R g |
DY 11 : YHAER Fog18 DT Hdbd A0 R T 3Ud URTdHl & $RUI G & e | §U dadld b 3R 8
SWRIad HY b el H, i< fau T f[dbetl # 4 G Jugdd IRk &1 994 HIfod :

P 1R 1 aH Il g
. HYF1 3R 1 &Fl Tad §
HUT 198 8, A YA n Tdd ©
. HYF 17T0d g, b Y 1 Yol o

1) 1
) 2
(3) 3
(4) 4

B S B

1[Option ID=33253] Question Description : commerce_commerce_set 1_english_q89
2[Option ID=33254]
3[Option ID=33255]
4[Option ID=33256]

Sl. No.90
QBID:18090

Given below are two statements:

Statement I : If a population from which a sample is to be drawn does not constitute a homogenous group, stratified
sampling technique is generally applied in order to obtain a representative sample.

Statement IT: In the case of small samples, z-test is applied even if the population standard deviation is not available
(given).

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct
(1) 1

) 2

(3) 3

(4) 4

B N




EIEEAC AR U

&Y 1 - Tfe T feTT ST-arel S-EReA g Helldiy g1 6. di WidHidd it ured 4 & fau gmrgdar kied
Ufad ddbiidh & di fbar Sl g |

DY 11 - BI¢ Hitdl & ArTed H, S A fdde Iudsy 9 g4 (Uad) IR 4 S8 uligr dr] {har Srarg |
SWRIdd HY & HTdd H, - [GU Y [dhedl § U G4 Sugdd SR &1 99 HIfoU ;

1. ®HYT1 3R 1 i ggl §
2. HUT1 AR 1 GHI TTad 8
3. HUT 198 g, dibd YA 1 TTd ©
4. Y 17Tdd g, dfded YT 11 ol o
1) 1
2) 2
(3) 3
(4) 4

1[Option ID=33257] Question Description : commerce_commerce_set 1_english_q90
2[Option ID=33258]
3[Option ID=33259]
4[Option ID=33260]

Sl. No.91
QBID:18091




The economy of India is a mixed, middle-income, developing social market economy. It is the world's fifth-largest economy
by nominal GDP and the third-largest by Purchasing Power Parity (PPP). According to the International Monetary Fund
(IMF), on a per capita income basis, India ranked 142nd by GDP (nominal) and 125th by GDP (PPP). From Independence in
1947 until 1991, successive governments promoted protectionist economic policies, with extensive state intervention and
economic regulation. This is characterized as dirigisme, in the form of the Licence Raj. The end of the Cold war and an
acute balance of payments crisis in 1991 led to the adoption of a broad economic liberalization in India. Since the start of the
21st century, annual average GDP growth has been 6% to 7%, and from 2013 to 2018, India was the world's fastest growing
major economy, surpassing China. Economy of the Indian subcontinent was the largest in the world for most of the recorded
history until the onset of colonialism in early 19th century. Share of Indian economy is 7.5% of world economy by PPP
terms. The long-term growth perspective of the Indian economy remains positive due to its young population and
corresponding low dependency ratio, healthy savings, and investment rates, increasing globalization in India and integration
into the global economy. Nearly 70% of India's GDP is driven by domestic private consumption. The country remains the
world's sixth-largest consumer market. Apart from private consumption, India's GDP is also fuelled by government
spending, investments, and exports. India has been a member of the World Trade Organization since 1 January 1995. It ranks
37th on the Ease of Doing Business Index and 37th on the Global Competitiveness Report. Due to extreme rupee/dollar rate
fluctuations, India's nominal GDP too fluctuates significantly. With 50 crore (500 million) workers, the Indian labour force

is the world's second-largest. India has one of the world's highest number of billionaires and extreme income inequality.
Because of several exemptions, barely 2% of Indians pay income taxes.

afeiRad e &1 graurigde ufgu, iR e & 3MUR TR U4 61 Ik il |

“URd B feaei] U MY, Aeh- 31, A riicd GHmiod SR ST g | A1 Ydbd Te 316 & 3dR
7g fay o1 Uidd! 9ad 991 3R paifad gAadeddm (d.dLd) & 28R a 9ad 931 fTa®iT g | SHRRAP Hal
DIY (32.UH.UE.) & IR () Ybol 9] IAIG (H.9.3.) & YR W Ufcofad ma d URd &1 R 142di 3R
(U UT) 99, 3. & YR W 12591 § | 1942 H e TdAdT I 1991 dP, HAT: IRI WBRI - Wemare! e Hifaaf
D! deral el ToTH s &1 gWay 3R 31fid R JAftd U1 asdy A9 & 9 H, 01 € 39! [ 24|
-G &I GG 3R 1991 & U8 YIdH-Hde Ybed YRd § D 3H1fid JeRIHI0 &l Hidbr &1 fear | 214
IdTeq] &b URFH ¥ gl ebel el 316 Bl 3Hd alfteh gfg & 6% ¥ 7% 51 § | T 2013 2018 e, HRd i Bl
USISd gU fa% &1 Yay ool S¢- dTal T 3iaqae o |

HRA SUHRTE Y &1 sfaqaw, ficrads sider & U@ ord H 3y 3 gy 991 g1 g o9 a& &
19 Trdlec] & YR | IJufdrarg o1 urgHid 181 g1 an | di. Ul 0. & 3R W fay sefoqaen o YRd srfaqar o
TERGRT 7.5% 4l |

g1 S-Ee, G- MR Surd, gaie s9d, (99 &8, 4R § SRITR d¢d d4ih 3R dfyd srpicraei & uiy
USR] - URAY 3fa®] & b g uRUED Dl YHRID 3G1 ¢ | HRd BT AU 70% Fbel I 3G
<20 ol SUHRT ¥ T1fed © | HRd [a% &1 3641 9oy 981 SUHIad] 916k © | ol STHRT & Sfdar, R Sdhd
TR I WRBRT Y, (I 3R faial § it Sof 80 &l § | U SHail, 1995, H g1 URd [d% HUR W1aH &1
% 969 © | PRIER dx- H YA & Yadia & AFd J HRd &1 RIF 3731 3R 3@ ufdaifaresa RuRd &
YR 3791 € | U8 YR STeR &1 &3 H 3f@Af¥i IdR-9¢Id & SR HRA & AT Yl T Icd1g H off Hgwyul
1944 G- DI FHAdI g | 50 BRIS (500 HTT) 4] & Ty YR {9y i gl Gad g1 97 ferd © | YR fay
& 3 SN T U ¢ 9Igl SRIURT! &1 G Haiied R e id M ¢ | 9gd GRI @l & HRU had 2%
YR € SR G § |

Given below are two statements:

Statement I : India has one of the world's highest number of billionaires and extreme income inequality. Because of several
exemptions, barely 5% of Indians pay income taxes.

Statement IT: With 50 crore (500 million) workers, the Indian labour force is the world's second-largest.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct
1)1

() 2

3) 3

(4) 4

B B




TdalHyfeuu g :

DY 1 YR [d% & RIUIG! &1 Faiid Y dIel SR HAND D SRHMAT dTcd o1 H U g | 9gd URI gel &
DR Had 5% YR 1 AP G ¢ |

BHYA 11 : YR Y-, 50 BRIS (500 AT 4Dl & 1y fay &1 gl 9y 991 YH=Iia g |

SWRIdd HY & HTdd H, - [GU Y [dhedl § U 994 Sugdd SR &1 99 DU ;

1. ®HYT1 3R 1 i ggl §
2. HUT1 AR 1 GHI TTad 8
3. HUT 198 g, dibd YA 1 TTd ©
4. Y 17Tdd g, dfded YT 11 ol o
1) 1
2) 2
(3) 3
(4) 4

1[Option ID=33261] Question Description : commerce_commerce_set 1_english_q91
2[Option ID=33262]
3[Option ID=33263]
4[Option ID=33264]

Sl. No.92
QBID:18092




The economy of India is a mixed, middle-income, developing social market economy. It is the world's fifth-largest economy
by nominal GDP and the third-largest by Purchasing Power Parity (PPP). According to the International Monetary Fund
(IMF), on a per capita income basis, India ranked 142nd by GDP (nominal) and 125th by GDP (PPP). From Independence in
1947 until 1991, successive governments promoted protectionist economic policies, with extensive state intervention and
economic regulation. This is characterized as dirigisme, in the form of the Licence Raj. The end of the Cold war and an
acute balance of payments crisis in 1991 led to the adoption of a broad economic liberalization in India. Since the start of the
21st century, annual average GDP growth has been 6% to 7%, and from 2013 to 2018, India was the world's fastest growing
major economy, surpassing China. Economy of the Indian subcontinent was the largest in the world for most of the recorded
history until the onset of colonialism in early 19th century. Share of Indian economy is 7.5% of world economy by PPP
terms. The long-term growth perspective of the Indian economy remains positive due to its young population and
corresponding low dependency ratio, healthy savings, and investment rates, increasing globalization in India and integration
into the global economy. Nearly 70% of India's GDP is driven by domestic private consumption. The country remains the
world's sixth-largest consumer market. Apart from private consumption, India's GDP is also fuelled by government
spending, investments, and exports. India has been a member of the World Trade Organization since 1 January 1995. It ranks
37th on the Ease of Doing Business Index and 37th on the Global Competitiveness Report. Due to extreme rupee/dollar rate
fluctuations, India's nominal GDP too fluctuates significantly. With 50 crore (500 million) workers, the Indian labour force

is the world's second-largest. India has one of the world's highest number of billionaires and extreme income inequality.
Because of several exemptions, barely 2% of Indians pay income taxes.

fafeiiRad e &I grayrigde ufgu, iR T & SMUR UR U4 &1 Ik il |

“URd B fea®i] U MY, Ae- 31, [Ah e GHiod SoR HSAqwil g | A Ydbd e 316 & IR
7g {9y o1 Uidd! 9ad 991 3R paifad gAadedd (U.dLd) & 28R ad Gad 931 IR g | SARRP Hal
DIY (312.UH.UE.) & IR () Ybdl IRe] IAIG (H.9.3.) & YR W Ufcqofad 4 d URd &1 R 1424d] 3R
(U UT) 99, 3. & YR W 12591 § | 1942 H [ TdFdT I 1991 IP, HA: IRI BRI - Wemrare! s Hifaat
DI Fe1al a1 o 3o &1 g3ay 3R 3M11id Far JAitE U1 Ay A & &9 H, F01 g1 39! [a=iva 2|
-G &I GG 3R 1991 & U8 YIdH-Hde Ybed YRd H D 31fid IeRIHI0 &l Hidhr &1 fear | 214
IdTeq] &b URFH ¥ gl ebel el 316 Bl 3Hd alfteh gfg & 6% ¥ 7% 51 § | T 2013 2018 e, HRd i Bl
USISd gU fa% &1 Yay du g¢- drcl T 3iaqae o |

R SYHGTET DI SATaR, SHi¥ciads 3idgr & YD drd H 44 B Tad 9! 3dqdwy1 5! o« ddb &b
19l Trdlec] & YR | IJufdrare o1 wigHid =181 g1 am | . Ul 0. & 314R W fay srfoqaen o YRd srfaqari &
TERGRT 7.5% 4l |

a1 S-EEA, g MR S urd, g s9d, (990 &8, 4R § IRITR d¢d d4ih 3R iy sricqaeil & uiy
TS IHR] - URAY 3fa®] & b g uRUED o YRS 3G1 ¢ | URd BT AU 70% Fbel I 3G
<2 Sl SUYRT Y Td1ferd g | YR [a% &1 S6d1 999 931 SUHTEHT 96IR ¢ | sl SUYIT & Sfedl, YR Jdbd
TR I WRBRT Y, (I 3R faial § it Sof 80 &l § | U SHail, 1995, H g1 URd [d% HUR W1aH &1
% 969 © | PRIER dx- H YA & Yadia & AFd J HRd &1 RIF 3731 3R 3@ ufdaifaresa RuRd &
YR 3791 € | U8 Ul STeR &1 &30 H 3f@Af¥id IdR-9¢Id & SR HRd & AT Yol TR Id1g H off gyl
e19-dGId 6 DI FHAd g | 50 BRI (500 Hera) 4T & Ty YR 19y P gl Gay g2t 97 Ll ¢ | YR fay
& 3 SN T U ¢ 9Ig! SRIURT! &1 U aiid R i dd SFIHd ¢ | 95d GRI @l & HRU had 2%
YRATT € SR Gd § |

Which of the following is not a correct statement?

. The economy of India is a mixed, middle-income. developing social market economy.

. India's GDP is also fuelled by government spending, investments, and exports.

. India has been a member of the World Trade Organization since 1 January 1996.

. Economy of the Indian subcontinent was the largest in the world for most of the recorded history until the onset of
colonialism in early 19th century.

1 1

(2) 2

3) 3

4) 4

e Y eA-M HyH Td Tel g 2

. YRd 31 3rderqey1 ud MAfYd, Ao, fasrasiia g 9eR daaqeig |

L YRA BT Y W IdTe DRI o2, a9l 3R Faidl 9 ot ol g0 Hdi g |

. YRd Udh SHall, 1996 T fd% SATUR W16 &1 U g ¢ |

. YR SUHETETT B rieaRy SficRgds Sider & UG e H [y & Jad 931 3faqawil 3§ o1d db
&1 1997 Fdled] & UR™ H FUFIIRIATG ST UigHid 71 81 T |

B R R

S R I




(1) 1

(2) 2

3) 3

4) 4
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The economy of India is a mixed, middle-income. developing social market economy. It is the world's fifth-largest economy
by nominal GDP and the third-largest by Purchasing Power Parity (PPP). According to the International Monetary Fund
(IMF), on a per capita income basis, India ranked 142nd by GDP (nominal) and 125th by GDP (PPP). From Independence in
1947 until 1991, successive governments promoted protectionist economic policies, with extensive state intervention and
economic regulation. This is characterized as dirigisme, in the form of the Licence Raj. The end of the Cold war and an
acute balance of payments crisis in 1991 led to the adoption of a broad economic liberalization in India. Since the start of the
21st century, annual average GDP growth has been 6% to 7%, and from 2013 to 2018, India was the world's fastest growing
major economy, surpassing China. Economy of the Indian subcontinent was the largest in the world for most of the recorded
history until the onset of colonialism in early 19th century. Share of Indian economy is 7.5% of world economy by PPP
terms. The long-term growth perspective of the Indian economy remains positive due to its young population and
corresponding low dependency ratio, healthy savings, and investment rates, increasing globalization in India and integration
into the global economy. Nearly 70% of India's GDP is driven by domestic private consumption. The country remains the
world's sixth-largest consumer market. Apart from private consumption, India's GDP is also fuelled by government
spending, investments, and exports. India has been a member of the World Trade Organization since | January 1995. It ranks
37th on the Ease of Doing Business Index and 37th on the Global Competitiveness Report. Due to extreme rupee/dollar rate
fluctuations, India's nominal GDP too fluctuates significantly. With 50 crore (500 million) workers, the Indian labour force

is the world's second-largest. India has one of the world's highest number of billionaires and extreme income inequality.
Because of several exemptions, barely 2% of Indians pay income taxes.

FafaRad T &l GrayHgded gieu, 3R TR & SYR TR UY &I 3R cifol |

“YRd B fea®] U MY, -3/, f[Ahreiicd GHifod deiR el g | il Ydbd T 316 & IR
7g fay 1 Uidd! 9oy 931 3R paifad gadeddm (Ul.dhdl) & 28R a 9a8 931 Joua®iT g | SARRAP Hal
DIY (3M2.TH.UE.) & AR (A bl I 3G (F.9.3.) & YR W Hiqofad 0 T YR &1 RIF 14241 3R
(UIgidl) 9.9, 3. & YR WR 12531 8 | 1942 F el AT Y 1991 T, HHLT: YRI TRBR] - GREUare! e ifaai
DI Jeral fad o H o0 BT gay 3R e (8- SfAitd o Ay Ao & U H, =01 g1 Suo! a2 o
Mg &I GHIMGT 3R 1991 & U8 YIdH-Hde Ybed YRd § AMD H1fdd SeRIBI0 &l W[ &1 faar | 214
Qrdlec] & YR Y gl Yobol T IIG di 314d i gfs &R 6% H 7% o1 © | T2013 Y 2018 b, HRd diH I
UsTSd gU a4y & Uad ool g6+ dial WRg srfeqaw o |

R SUHGTEY &1 SAaRT, SHiiciads 3dgr & SMUHI ord | [y B Tad a1 leudwy1 5! od o [
19l ArdTec] & YR | IJufdrdre o1 WigHid g1 gl am | . Ul 0. & 3R W fay sefoqaen o YRd srfaqawy &
feRiaRt 7.5% 4 |

a1, Y- FHRAr SFurd, gaie s9d, AR &3, HRd H SRR d¢d 4107 3R 3 srloqawl & 9y
U 1RV - URATY Sfea®y] & diHbiieid g uRUEd & YbRIFD Q1 ¢ | HRd BT AU 70% Fdbel 9 3G
SN T ITHRT Y 1o § | YR 9% 1 S6d1 Uay 981 ST 9eR © | Sl STYN & @], YR Ihd
TR JAIG WRBRT Y, (a2 SR fHaidl ¥ Ut S J80 ddl § | U SHadl, 1995, H g1 YRd {94 AMUR W69 H1
U Yo' § | DRIGR 6 H Gide & Ydbidh & AHd § YR &1 - 3741 3R di%d Ufagifarétdd RuRd &
YR 3791 § | U Ul STeR &1 &2 H 3(@Afeid IdR-9¢Id & SR HRA & A0 d Ybd =R IdIg § off Hgwyul
Te19-d3Id &g DI THAAI 8 | 50 BRIS (500 M) YHDT & Ty YR 19y Pl gl o g2t 99 Ll 8 | YR fay
& 3 <X | U ¢ 95l eRauldl B U Galided 3R ivs fdd SuMHdl g | 9gd URI 3¢l d DRI dhad 2%
YRATT € SR Gd ¢ |

Which one of the following is not a supportive factor to the Indian economy's long-term growth perspective?

. Young population and corresponding low dependency ratio

. Healthy savings and investment rates

. Increasing globalization in India and integration into the global economy
. Continuous increasing defence expenditure

(1) 1

(2) 2

3) 3

4) 4

B R




YR 3fgawyl & il dig uRted o fefu Fafafad § O &iH Uh 9gaiil &R gl g 2

1. a1 ST AR dgutfd g R &

2. gUid 99d 3R FHagr el

3. HRd 4 dedl diHR0T 3R 3$ THTRI & HIY UHIHI0]
4.8 ¥ FRR 9fa

(1) 1
(2) 2
(3) 3
(4) 4
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The economy of India is a mixed, middle-income, developing social market economy. It is the world's fifth-largest economy

by nominal GDP and the third-largest by Purchasing Power Parity (PPP). According to the International Monetary Fund
(IMF), on a per capita income basis, India ranked 142nd by GDP (nominal) and 125th by GDP (PPP). From Independence in
1947 until 1991, successive governments promoted protectionist economic policies, with extensive state intervention and
economic regulation. This is characterized as dirigisme, in the form of the Licence Raj. The end of the Cold war and an
acute balance of payments crisis in 1991 led to the adoption of a broad economic liberalization in India. Since the start of the
21st century, annual average GDP growth has been 6% to 7%. and from 2013 to 2018, India was the world's fastest growing
major economy, surpassing China. Economy of the Indian subcontinent was the largest in the world for most of the recorded
history until the onset of colonialism in early 19th century. Share of Indian economy is 7.5% of world economy by PPP
terms. The long-term growth perspective of the Indian economy remains positive due to its young population and
corresponding low dependency ratio, healthy savings. and investment rates, increasing globalization in India and integration
into the global economy. Nearly 70% of India's GDP is driven by domestic private consumption. The country remains the
world's sixth-largest consumer market. Apart from private consumption, India's GDP is also fuelled by government
spending, investments. and exports. India has been a member of the World Trade Organization since | January 1995. It ranks
37th on the Ease of Doing Business Index and 37th on the Global Competitiveness Report. Due to extreme rupee/dollar rate
fluctuations. India's nominal GDP too fluctuates significantly. With 50 crore (500 million) workers, the Indian labour force

1s the world's second-largest. India has one of the world's highest number of billionaires and extreme income inequality.
Because of several exemptions, barely 2% of Indians pay income taxes.

FafciRad e @I SayFigds uiey, SR e & YR UR Y &1 IR il |

~URd @ Hfaw] U MY, Ae- 31, A i GHmisd SR HUqaqwil g | e Ybd e 316 & dR
g oy 1 Uidl 9a¥ 31 3R shaifad AT (ML) & 2FHR (o el 931 a8 | SqRRAPI Hal
DY (3M12.UH.UE.) P IR (FAIH) el °9e] 3dIG (.9.3.) & HUR IR Yfdedidd 3 H URd &1 - 14241 3R
(UTUTOL) W, 3. & YR WR 12591 g | 1942 H el WdFAar ¥ 1991 dd, HHRT: IR WRER] A WRewEra! e Hifaaf
DI Jeld1 faar foragH o0 &1 giay 3R e (8- Sf@ftd o ARy e & =0 H, =01 g1 39d! g2 i
-G DI JHIGT 3R 1991 & Y3 YAH-UdeH Ybed URA § AGSD idd IGRIGU &l Wb 41 faar | 2149t
Trdleal & YR U gl Ybdl T 3G DI 37144 dlfd gig & 6% ¥ 7% 51 § | T 2013 H 2018 T, YRd oI Bl
SIS U fay &1 Yay ool 9g- dicil THE sffeqqey 4 |

YR SUHEIEIT &1 Sfq®i, fficiadg sfderd & U@z oid § 9y ! 9y g1 3daaq1 gl od da b
19l TdTsd] & YR H IUdRIarG T UrgHid =gl g1 mam | U i . & 31e/R W fay srfeuden o URd foudey] &l
fERaRT 7.5% i |

ga1-S-ET, Hg-FRdT Surd, gaie s9d, (99 &, YR § SRITR d¢d d4H v 3R dfyd srpioqawl o uiy
UHIHRU 7 YR SfqR] & drdbiieid dia URUET ©1 YHRIES @1 | YR DI THIHIT 70% Hhd 9] IAIG
ST ol SUHRT ¥ GITed © | YR [a% &1 3641 oY 931 SUHIad] 916k © | ol SUHRT & Sfadl, YR Tdhd
TR IdIG BRI Y, (= 3R fHaial ¥ W Sof T80 &l § | Uh SHail, 1995, H g1 URd {94 IR W64 &1
U% 9o ¢ | PRIAR & 1 Yiae & Yadbid & HHd § YR &I RIH 3731 3R 34 ufaaifiaresa RuRE &
YR 3741 § | ©UY Ufd STeR &1 &3 H AP IIR-IId & HRU HRd & AIT-cd Ybol el IdIg 4 Hi Hgwyul
He[d-9¢1d o ®I (el g | 50 BRI (500 ATCHH) 4H®I & I HRA [dY DI Gu’] Yoy a9t 94 ldd ¢ | HRd fay
& 3 S T Uh ¢ oI5 SRIURTI! &1 G Hdifed AR fie i UM 8 | 9gd URI gl & DR dhdd 2%
YR gl SRPR Gd ¢ |




Given below are two statements:

Statement I ; Since the start of the 21st century. annual average GDP growth rate of India has been 6% to 7%.
Statement IT: From 2013 to 2018, India was the world's fastest growing major economy, surpassing China.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement [ is correct but Statement II is incorrect
. Statement [ is incorrect but Statement II is correct
(1) 1

(2) 2

3) 3

) a

FH A PYT RTINS

DY 1: 2191 ITsd] & YR H g YR B1 HINd dIftids Yool U] 3cIG & 6% H 7% b S g1 ¢ |

DY 11 : 992013 H 2018 T 914 DI UDTSd gU YR 94 B Gad dild 71fd T i B dreil gD Sfeuaeyy ot |
SWRIcK] B & D 4, Hid fGu U [ddhedi T 4 998 Iugdd Itk &1 999 DIfo :

1. U 13IR 1 aH Igl g
2. HYA 1 3R 11 &Hl Tad §
3. HYF 1981 8. dlihd HUT 1 7eTd ©
4. BYF17TAd g, dihd DY 1 Uol ¢
1) 1
(2) 2
3) 3
4) 4

e
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The economy of India is a mixed, middle-income, developing social market economy. It is the world's fifth-largest economy
by nominal GDP and the third-largest by Purchasing Power Parity (PPP). According to the International Monetary Fund
(IMF), on a per capita income basis, India ranked 142nd by GDP (nominal) and 125th by GDP (PPP). From Independence in
1947 until 1991, successive governments promoted protectionist economic policies, with extensive state intervention and
economic regulation. This is characterized as dirigisme, in the form of the Licence Raj. The end of the Cold war and an
acute balance of payments crisis in 1991 led to the adoption of a broad economic liberalization in India. Since the start of the
21st century, annual average GDP growth has been 6% to 7%, and from 2013 to 2018, India was the world's fastest growing
major economy, surpassing China. Economy of the Indian subcontinent was the largest in the world for most of the recorded
history until the onset of colonialism in early 19th century. Share of Indian economy is 7.5% of world economy by PPP
terms. The long-term growth perspective of the Indian economy remains positive due to its young population and
corresponding low dependency ratio, healthy savings, and investment rates, increasing globalization in India and integration
into the global economy. Nearly 70% of India's GDP is driven by domestic private consumption. The country remains the
world's sixth-largest consumer market. Apart from private consumption, India's GDP is also fuelled by government
spending, investments, and exports. India has been a member of the World Trade Organization since 1 January 1995. It ranks
37th on the Ease of Doing Business Index and 37th on the Global Competitiveness Report. Due to extreme rupee/dollar rate
fluctuations, India's nominal GDP too fluctuates significantly. With 50 crore (500 million) workers, the Indian labour force

is the world's second-largest. India has one of the world's highest number of billionaires and extreme income inequality.
Because of several exemptions, barely 2% of Indians pay income taxes.

afeiRad e &1 graurigde ufgu, iR e & 3MUR TR U4 61 Ik il |

“URd B feaei] U MY, Aeh- 31, A riicd GHmiod SR ST g | A1 Ydbd Te 316 & 3dR
7g fay o1 Uidd! 9ad 991 3R paifad gAadeddm (d.dLd) & 28R a 9ad 931 fTa®iT g | SHRRAP Hal
DIY (32.UH.UE.) & IR () Ybol 9] IAIG (H.9.3.) & YR W Ufcofad ma d URd &1 R 142di 3R
(U UT) 99, 3. & YR W 12591 § | 1942 H e TdAdT I 1991 dP, HAT: IRI WBRI - Wemare! e Hifaaf
D! deral el ToTH s &1 gWay 3R 31fid R JAftd U1 asdy A9 & 9 H, 01 € 39! [ 24|
-G &I GG 3R 1991 & U8 YIdH-Hde Ybed YRd § D 3H1fid JeRIHI0 &l Hidbr &1 fear | 214
IdTeq] &b URFH ¥ gl ebel el 316 Bl 3Hd alfteh gfg & 6% ¥ 7% 51 § | T 2013 2018 e, HRd i Bl
USISd gU fa% &1 Yay ool S¢- dTal T 3iaqae o |

HRA SUHRTE Y &1 sfaqaw, ficrads sider & U@ ord H 3y 3 gy 991 g1 g o9 a& &
19 Trdlec] & YR | IJufdrarg o1 urgHid 181 g1 an | di. Ul 0. & 3R W fay sefoqaen o YRd srfaqar o
TERGRT 7.5% 4l |

g1 S-Ee, G- MR Surd, gaie s9d, (99 &8, 4R § SRITR d¢d d4ih 3R dfyd srpicraei & uiy
USR] - URAY 3fa®] & b g uRUED Dl YHRID 3G1 ¢ | HRd BT AU 70% Fbel I 3G
<20 ol SUHRT ¥ T1fed © | HRd [a% &1 3641 9oy 981 SUHIad] 916k © | ol STHRT & Sfdar, R Sdhd
TR I WRBRT Y, (I 3R faial § it Sof 80 &l § | U SHail, 1995, H g1 URd [d% HUR W1aH &1
% 969 © | PRIER dx- H YA & Yadia & AFd J HRd &1 RIF 3731 3R 3@ ufdaifaresa RuRd &
YR 3791 € | U8 YR STeR &1 &3 H 3f@Af¥i IdR-9¢Id & SR HRA & AT Yl T Icd1g H off Hgwyul
1944 G- DI FHAdI g | 50 BRIS (500 HTT) 4] & Ty YR {9y i gl Gad g1 97 ferd © | YR fay
& 3 SN T U ¢ 9Igl SRIURT! &1 G Haiied R e id M ¢ | 9gd GRI @l & HRU had 2%
YR € SR G § |

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion-A: Nearly 70% of India's GDP is driven by domestic private consumption.
Reason-R: The country (India) remains the world's sixth-largest consumer market.
In the light of the above statements, choose the most appropriate answer from the options given below

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A
. A Is correct but R is not correct

. A Is not correct but R is correct

(1) 1

(2) 2

3) 3

(4) 4

R N




A ST YA ST G : U SMUBYU (Assertion A) D =0 H [eGd 8 Tl GHRT 3Udb BRI (Reason R) & =U H:
HYDHYT A - URA b bl Tl SAIG DI ATHT 70% =it F5il ST I HdTierd gidai g |

DRUIR : (YRd) &2 3% &1 4] GaY 931 ST -SSR TG ¢ |

SWRIad HY b el T, - U T gl ¥ 9 H&l IR &1 99 Sl :

1LAARRGHI TG 3R R A DI Ugl AR ¢
2. AR R GHl A B, dfbd R, A B TSI ARAT ST ©
3. ATEI S AfP IR UST T8i &
4. A9EI 8. dAfPIR TSI ©
o »
3) 3
(4) 4
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India began laying the foundation for a more digital economy more than a decade ago with the launch of a national
identification program called Aadhaar. The system creates biometric IDs to establish proof of residence and has been
instrumental in digitizing financial transactions, among other benefits. This initiative is now part of India Stack, a
decentralized public utility offering a low-cost comprehensive digital identity, payment and data management system.
"IndiaStack is likely to lead to a massive change in how India spends, borrows and accesses healtheare", says an expert.
IndiaStack has broad applications including a network for lowering credit costs, making loans more accessible and
affordable for both consumers and businesses. Credit availability is an impeortant component of economic growth, and "India
is currently one of the most under leveraged countries in the world", says the expert. whose team thinks the ratio of credit to
GDP could increase from 57% to 100% over the next decade. Indian consumers are also likely to have more disposable
income. India's income distribution could flip over the next decade. and consequently overall consumption in the country
could be more than double from $2 trillion in 2022 to § 4.9 trillion by the end of the decade - with the greatest gains going to
non-grocery retail, including apparel and accessories, leisure and recreation, and household goods and services, among other
categories.

AR T ®1 GaYFIYas Uiey SR 39d MR W UH & 3R ol (Falied SUge) -

YR - T <21 Y A THT qd 3MUR THH-IPTT Ugd BrdshH &b GRH & 1Y U 3ifdd-2iaiyg (f$foiea)
S TRIT 1 TG TGN 3RY T 4T | T8 WM SR FHI0T R{TT0d 6 & o8 Sitg QifeTd1d Uga (@Emics
TSSN) DI T Bl § IR =7 ugfauradi & 91 fa<iia YqdgR] & SiBIhu ST e a1 ¢ |

g Ugd 3d 33U LD B 307 8 ofl U A~ Ihd "iduiie gfeferdl § Sl f9 drd W fa&]d 31 ygdH, Y
3R S Uslt UUITell UGTH B IG1 § | Ucb fa=INsl = $gl 8, “HRd T ol &3, 0l ol 3R W Gidenafi db ugd &
TR-RID] | ST TP RI TS U R I6dd DI TS |

STEUT R E & ATS U S0 STHIGSH 3R PRIGR G & AU F0Il of 24 HTRT 3R 98- &1d g¢
U DI AT U DI edd MU § | U DI Iuasdl 31fdd 9fg &1 U Hgwyl §ucd g 3R ~adqr ¥ YRd
Ty 7 aliee SaR-Sford 21T T U U ¢ I8 Udh [9RINS] 1 dogl ¢ oiFd| S HIFT ¢ b 3FTel a=1dh o 0T 3R
SISIdl &1 U 57% U 9gHR 100 Wid=rd gl S |

YR IuHTadisi & urg i 31 Taisd 3G giH &1 YU § | 2Td GXd H URd DI 3114 BT f[darul 38 o
Yabdl g 3R URUIH WY G2 6] T IUHRT 2022 & 52 e & &1 A1 Y 3{Ed g b aRd b 3id dd $4.9
fefera gl Udbdl § - Gaiftidh Sif¥emH TR-fbm1 Wen & # i forad 3= 9fort & uRer 3R i will, srdabrrd
RS SR 93¢ AT 3R Yard M g |

Which one of the following explains Aadhaar?

1. National Identification program
2. National Citizenship program
3. Unified Identification program
4. Unified census program

1) 1

(2) 2




3) 3
4) 4

fgfaRad § 9 DF YR & WY A1 2
1. 91 UgdH Hribd

2. VR ARG AT HIHH
3. UDIghd UgdH S
4. UHIPd SHIUAT HRIHH

1) 1

) 2

(3) 3

(4) 4

1[Option ID=33281] Question Description : commerce_commerce_set 1_english_q96
2[Option ID=33282]
3[Option ID=33283]
4[Option ID=33284]

Sl. No.97
QBID:18097
India began laying the foundation for a more digital economy more than a decade ago with the launch of a national

identification program called Aadhaar. The system creates biometric IDs to establish proof of residence and has been
instrumental in digitizing financial transactions, among other benefits. This initiative is now part of India Stack, a
decentralized public utility offering a low-cost comprehensive digital identity, payment and data management system.
"IndiaStack is likely to lead to a massive change in how India spends, borrows and accesses healthcare", says an expert.
IndiaStack has broad applications including a network for lowering credit costs, making loans more accessible and
affordable for both consumers and businesses. Credit availability is an important component of economic growth, and "India
is currently one of the most under leveraged countries in the world", says the expert, whose team thinks the ratio of credit to
GDP could increase from 57% to 100% over the next decade. Indian consumers are also likely to have more disposable
income. India's income distribution could flip over the next decade. and consequently overall consumption in the country
could be more than double from $2 trillion in 2022 to $ 4.9 trillion by the end of the decade - with the greatest gains going to
non-grocery retail, including apparel and accessories, leisure and recreation, and household goods and services, among other
categories.

R eI $I GaeFIYdd Uieu SR 3% SMTER TR UY & IR ool (Halieid IUge) :
YR - T <21 Y A THT Id 3MYR THS-IPT Ugd BrdshH b TRH & 1Y Ud 3ifddp-sidiyg (f$fioiea)

AR DI UG IGHAT ARY 41 AT | T WUl SR YHT0 RIMUT 63 & ol Sitg gifereid ugdH (@ids
TSN B T Bl g IR 3 T3 & I [ YHagRI & 3BIhul B WU a4 ¢ |

g Ugd 3 33T 7P @ 37 g ol U [Adsi1dd Wdel-ad giefad g Al 9 ard W 3% i@ UgdH, YiaH
HR ST Yaef UUITei] UG B 61 8 | U [N - &gl 3, ~HRd H 4 6, Pl o+ SR Wy giaursdi a6 ugd &
dR-RI®] H 3E01 7 dh gRI S THH IR 9adrd &1 Mg |

TSN D & AUS YN g F5H U3 3R SRIGR Gl o e Bl DI ifeid T 3R g+ §H1d gu
P Bl ANTd U DI Hedd WA S | B i Iudsdl 31 gfs BT U Agwyul 49 g 3R “dau = § URd
Ty o Falftie saR-Iiiord o=l & U U g I8 Udh [a2I9R &I gl g (o] ¢ 10 HIFd! ¢ [ SiiTel 21 o F07 3R
SIS Ul BT 3HUTd 57% U 9 bR 100 U=Id g1 ST |

HRATT SuHTadS & U Hi (eI Ty 311 S Dl GHIAHT § | 3ATcl SR H HRd &1 319 B fdaRul I&Td o
Gahdl § SR URUMH WY -1 BT HHT YT 2022 & 52 110 & &l THT Y 3{d dedh GRID & 3id ad $4.9
fefera g1 9dbdl § - Yaiftd ey TR-fb1 Wen & | g ore =7 4fori o uRer 3R o will, srdbrrd
IS 3R €] AT 3R Yard T ¢ |

Which one of the following describes India Stack better?

A. A decentralized public utility offering a low-cost comprehensive digital identity.
B. Payment and data-management system

C. A network for lowering credit costs

D. A trading platform

Choose the correct answer from the options given below:

.(A), (B) and (C) only
.(B), (C) and (D) only
.(A), (B) and (D) only
.(A), (C) and (D) only

B R




1) 1
(2) 2
(3) 3
(4) 4

AT D & HglRad # ¥ HH-H dgaR auH dRd © ?

A. U® fadb-=ided Frdui-e gfeferdt Sl 49 anTd R [a%d iy Ugdr UaH $Rdl ¢ |
B. Y 3R ST Uee WoTail

C. P ANTd HH & DI 4edd

D. U MRS #d

I fGU 70 fqdhed! # T Ug! TR &I 98- Il -

1. $ad A, B, AR C
2. $hdd B, C, 3R D
3. Had A, B, IR D
4. HAA A, C, 3RD

(1) 1

(2) 2

3) 3

4) 4
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Sl. No.98
QBID:18098 ) ] o ) )
India began laying the foundation for a more digital economy more than a decade ago with the launch of a national

identification program called Aadhaar. The system creates biometric IDs to establish proof of residence and has been
mstrumental in digitizing financial transactions, among other benefits. This initiative is now part of India Stack, a
decentralized public utility offering a low-cost comprehensive digital identity, payment and data management system.
"IndiaStack is likely to lead to a massive change in how India spends, borrows and accesses healthcare", says an expert.
IndiaStack has broad applications including a network for lowering credit costs, making loans more accessible and
affordable for both consumers and businesses. Credit availability is an important component of economic growth, and "India
is currently one of the most under leveraged countries in the world", says the expert, whose team thinks the ratio of credit to
GDP could increase from 57% to 100% over the next decade. Indian consumers are also likely to have more disposable
income. India's income distribution could flip over the next decade. and consequently overall consumption in the country
could be more than double from $2 trillion in 2022 to $ 4.9 trillion by the end of the decade - with the greatest gains going to
non-grocery retail, including apparel and accessories, leisure and recreation, and household goods and services, among other
categories.

R eI $I GaeFIYdd Uieu SR 3% SMTER TR UY & IR ool (Halieid IUge) :
YR A T <91 Y A FHG qd 3MYR THS-IPT Ugd brdshH &b TRY & 1Y Ud 3ifddp-ibiyg (f$foiea)

SAART DI FHUTG IGHAT ARY 541 UT | T YOIl SR YHT0 R0 63 & ol Sitg Fifered i ugdH @iaics
TSN B T Bl g IR 3 T3 & i [ YHagRI & SBIh0l BT WU a4 ¢ |

g UG 3d S1SU1 TP D 371 § Gl U [ddsidd Fdsl-d giefed] ¢ Sl 5 drd IR 4% S ygaH, YiaH
HR ST Yae UUITei] UG B Ig1 8 | U [N - &gl 3, ~HRd H o4 6, Pl o SR Wy giaursdi a6 ugd &
AR-RiD! H 3731 %P gRI 98 YA UR 9Gdld Bl ST |

TSN D & AUS YN g F5H U3 3R SRIGR Gl o e Bl DI ifeid T 3R g+ §H1d gu
P Bl ANTd U DI Hedd WA S | B i Iudsdl 31 gfs BT U Agwyul 49 g 3R “dau = § URd
fay T Falfeie SaR-Iiford o= & U U g I8 Udh [a2IYR &I gl g (o] 11 HIFdl ¢ [ SiTel 21 o 07 3R
SIS Ul BT 3HUTd 57% U 9 100 U=Id g1 ST |

YR SuHTadS & g Hi (e TRy 31 g Dl YHIIHT § | 3Tc SR H YR &1 319 B fdarul I&Td o
Gahdl § SR URUMH WY =1 BT HHT YT 2022 & 52 e & &l THT Y 3{d dgdh GRID & 3id ad $4.9
fefera g1 9dbdl § - Yaiftd ey TR-fb1 Wen & | g ore =7 4forit o uRer 3R o will, srdbrd
TS 3R €] AT 3R Yard T ¢ |




Given below are two statements:

Statement I ; Credit availability is an important component of economic growth.

Statement IT: India is currently one of the most under leveraged countries in the world.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement [ is true but Statement II is false
. Statement [ is false but Statement II is true
(1) 1
(2) 2
3) 3
) a

EIEAERIE A 1

B 1 - PV U 3N S BT U Hewyof Yuea ¢ |

@Y I : TAHH H YR g1 & Falitd faR-3alidd e 4 Tdh g |
SWRIdd By & Hiedied |, i fQu e fdsbedl & I 9gl IR &1 984 SIS .

1. Y1 3R 1 &H I g
2. HYF 1R Gl A §
3. HYF 19 g, dlihd HUA 11 3T ¢
4. BUYT 13T g, Wb YA I IA T
1) 1
(2) 2
3) 3
4) 4

e
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India began laying the foundation for a more digital economy more than a decade ago with the launch of a national
identification program called Aadhaar. The system creates biometric IDs to establish proof of residence and has been
instrumental in digitizing financial transactions, among other benefits. This initiative is now part of India Stack, a
decentralized public utility offering a low-cost comprehensive digital identity, payment and data management system.
"IndiaStack is likely to lead to a massive change in how India spends, borrows and accesses healthcare", says an expert.
IndiaStack has broad applications including a network for lowering credit costs, making loans more accessible and
affordable for both consumers and businesses. Credit availability is an important component of economic growth, and "India
is currently one of the most under leveraged countries in the world", says the expert, whose team thinks the ratio of credit to
GDP could increase from 57% to 100% over the next decade. Indian consumers are also likely to have more disposable
income. India's income distribution could flip over the next decade. and consequently overall consumption in the country
could be more than double from $2 trillion in 2022 to $ 4.9 trillion by the end of the decade - with the greatest gains going to
non-grocery retail, including apparel and accessories, leisure and recreation, and household goods and services, among other
categories.

R eI $I GaeFIYdd Uieu SR 3% SMTER TR UY & IR ool (Halieid IUge) :

YR - T <21 Y A THT Id 3MYR THS-IPT Ugd BrdshH b TRH & 1Y Ud 3ifddp-sidiyg (f$fioiea)
HYGRIT B1 g-TE I@GAT 3R T 4T | I8 YUTTel! Tary YHI0 RI1TUT 6 & foid Siiq ifsreta ugaH (@rfcs
TSN B T Bl g IR 3 T3 & I [ YHagRI & 3BIhul B WU a4 ¢ |

g Ugd 3 33T 7P @ 37 g ol U [Adsi1dd Wdel-ad giefad g Al 9 ard W 3% i@ UgdH, YiaH
HR ST Yaef UUITei] UG B 61 8 | U [N - &gl 3, ~HRd H 4 6, Pl o+ SR Wy giaursdi a6 ugd &
dR-RI®] H 3E01 7 dh gRI S THH IR 9adrd &1 Mg |

TSN D & AUS YN g F5H U3 3R SRIGR Gl o e Bl DI ifeid T 3R g+ §H1d gu
P Bl ANTd U DI Hedd WA S | B i Iudsdl 31 gfs BT U Agwyul 49 g 3R “dau = § URd
Ty o Falftie saR-Iiiord o=l & U U g I8 Udh [a2I9R &I gl g (o] ¢ 10 HIFd! ¢ [ SiiTel 21 o F07 3R
SIS Ul BT 3HUTd 57% U 9 bR 100 U=Id g1 ST |

YR JqHiadrel & arg Hi A Tgrsg 31a g &1 GHIGT € | 3Te] G/ H HRd B 317 BT [dror Ia1a o
Gahdl § SR URUMH WY -1 BT HHT YT 2022 & 52 110 & &l THT Y 3{d dedh GRID & 3id ad $4.9
fefera g1 9dbdl § - Yaiftd ey TR-fb1 Wen & | g ore =7 4fori o uRer 3R o will, srdbrrd
IS 3R €] AT 3R Yard T ¢ |

"The system creates biometric IDs to establish proof of residence and has been instrumental in digitizing financial
transactions, among other benefits." The above statement talks about which one of the following ?

. PAN

. DIN

. Aadhaar
. GST

(1) 1

) 2

3) 3

(4) 4

g YUITE-TaTE UHT0T T H= o (o8 Sfid SiRAS T Ugd ! a1 Hcll § 3R I8 3= ugfaersii & ary fa<dia
YUdERI & B BT HEH T G |7

SWdd YT (A9 1 U fhdd IR § Hgl T3 2

1. glued
2. Sl3fEuA
3. YR
4. iUy

) 1

() 2

3) 3

4) 4

R R
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India began laying the foundation for a more digital economy more than a decade ago with the launch of a national
identification program called Aadhaar. The system creates biometric IDs to establish proof of residence and has been
instrumental in digitizing financial transactions, among other benefits. This initiative is now part of India Stack, a
decentralized public utility offering a low-cost comprehensive digital identity, payment and data management system.
"IndiaStack is likely to lead to a massive change in how India spends, borrows and accesses healthcare", says an expert.
IndiaStack has broad applications including a network for lowering credit costs, making loans more accessible and
affordable for both consumers and businesses. Credit availability is an important component of economic growth, and "India
is currently one of the most under leveraged countries in the world", says the expert, whose team thinks the ratio of credit to
GDP could increase from 57% to 100% over the next decade. Indian consumers are also likely to have more disposable
income. India's income distribution could flip over the next decade. and consequently overall consumption in the country
could be more than double from $2 trillion in 2022 to $ 4.9 trillion by the end of the decade - with the greatest gains going to
non-grocery retail, including apparel and accessories, leisure and recreation, and household goods and services, among other
categories.

R eI DI IayIYdd Uieuy SR 3% STER IR UY & IR ooy (Halieid IUge) :
YRT - T <2 I i THT Id 3MYR THS-IPTI Ug= BrdhH b TRH & 1Y Ud 3ifddp-sibiyg (f$foiea)

SAaR] DI UG IGAT ARY 41 AT | T8 WMl SR YHT0 R0 63 & ol Sit g ugdH (@ids
TSN B T Bl g IR 3 T3 & 1 [ YHagRI & 3BIh Ul B WU a4 ¢ |

g Ugd 3 3f3T1 I H 0 37 g ol U [Adsidd Wdel-ad giefad g ol 9 and W G i@ UgdH, YiaH
3R ST Yae UUITell Ue HR g1 8 | U [G=INR &gl 3, “HRd H 4 H, Pl - SR W glaursdi a6 ugd &
dR-RI®] H &0 7 H RIS THH R 96drd &1 MG |

STSUT LD & AUS SUANT g F5H U3 3R SRIGR G-l o el Bl DI ifeid T 3R 98-l §H1d gu
P DI AT U & ead MMA § | B DI Suasdl 31id gis &1 Udh Hgw@yl §9ed g 3R ~gdd § YRd
Ty o Falitie SaR-Iiford o=l & U Uab g I8 Udh [a2I9R &I gl g 1ol 11 HIFd! ¢ [ SiTel =1 o F07 3R
SIS Ul T 3HUTd 57% H 9 100 U=Id g ST |

RO SUHTarail & urg 1 i U M1 g &1 UG ¢ | 3T GRId H URd &1 314 & [daRu 381 o
Gahdl § SR URUMH WY -1 BT HHT YT 2022 & 52 110 & &l THT Y 3{d dedh GRID & 3id ad $4.9
fefera gl 9dbdl § - Yaiftid ey TR-fbmr Wer & # i fore 3=y 4fort o aiRer 3R o uill, srdbrd
IS 3R €] AT 3R Yard T ¢ |

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : India's income distribution could flip over the next decade.

Reason R : Overall consumption in the country could be more than double from $2 trillion in 2022 to $ 4.9 trillion by the
end of the decade.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A
. A is true but R is false

. A is false but R is true

(1) 1

(2) 2

3) 3

(4) 4

ﬁﬁ%mﬁqm% : U SHBHYH {Assertion A}%Wﬁﬁ'ﬁ@ﬂ%?ﬁ G 34D B[ (Reason R) & =0H

B N

SDHYUA A : 3T G¥H H HRA Bl 3 [IRUl IBIe o Ghdl ¢ |
DRUIR : G H YOI ITANT 2022 F 52 fTer T S 1 9 34D 9¢ B &b & 3id dh $4.9 fefeig g1 YhdI ¢ |
JURIdd HY & el H, A [GU TN fadbedl § ¥ 9g1 IR &1 994 HIfoTu -

1. A3RRGHIGAE SRR A DI Ugl AT &
2. AR RGHI T 8. AfbI R, A I U AT T8l ©
3. A9 G, dibR TG
4. A3 G, dPIRTA ©
(1) 1




(2) 2
3) 3
(4) 4
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